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2N/��5P _ ���3 
ค/2#N�็�#2 

O��O#N���6%�%8/6%�5��6%�%5 $6�%�Q7 ̀ ^ �? ( .0. ̀ cd_ - ̀ cf^) R�O�%4�60Q�OQ�%6��8��6�<N��16 
N#;P1/5��9P _d �5�$6$� `cd` N ;P1N�O��%1�O�/�6�Q��6%O�OR��ั�/6O'4 5��6�%5 $6�%�Q7�1��%4N�0
Q�%4$4 `^ �?�5Q�"5$O'O� 1<��"5$ O'4ค<�"6 �Q7 P�$$:�/'5�O�/�6��6#/'5��%5��6�1�N0%1��8� 1N 9$� 
N ;P12%O6�ค/6#2#�<'%4//N6��6%1�<%5�1์!AQ�!=�6% 5��6O/'N��Q7 O'4�6%�%8/6%�5��6%N�8�'<N#�Q7�5Q�%4�� 
�5Q�O�N�O��Q7 �'6��Q7 O'4�O6$�Q7 �9P21�ค'O1��5�O��$<��062�%์�6�8 `^ �? O��O#N���%4N�O��9P _g  
�6%�%8/6%�5��6%�Q7�5Q�%4�� O�� 5��6N0%1��8�O'425�ค#O/N��6�8��5��9P _` O'4O���6%��8%=��%4N�0
�O6��%5 $6�%�Q7"6$Q�O�%1�O�/�6��6% 5��6 d �O6� �%4�1��O/$ _) �6%�5��6%�Q71<�P"ค�%8P"ค  
`) �6%2%O6�ค/6##5P�ค��1��Q7"6ค�6%�'8� a) �6%�5��6%�Q7�N/#O'41<��"5$ b) �6%�5��6%ค<�"6 �Q7O'4
1�<%5�1์�%5 $6�%�Q7 c) �6%1�<%5�1์!A Q�!=2"6 �N6�O��Q7�9 PN2; P1#P�%#O'4�O1��5��6% 5��'6$�1��8� 

O'4 d) �6%�%8/6%�5��6%  
O��O#N���6%�%8/6%�5��6%�%5 $6�%�Q7 `^ �? R�O�7/���%1�N/'6Q��6%���/�2�6��6%�์

O'4�%5��%<�O�/�6��6%�7N�8��6%�<� c �? Q/O21�ค'O1��5�/O/�N/'6�6%���/�O��$<��062�%์�6�8 `^ �? 
O'4O�� 5��6N0%1��8�O'425�ค#O/N��6�8P�$�6��'�6%�%4N#8��'�6%�7N�8��6��9 P�N6�#6Q��N/� 
�?  .0. `cd_ - `cdb  �/N6$5�#9�O1�7�5�Q��6%�7/��คN6�6��5Q��O��6%�%4N#8��1�N�O6/#6$Q�O�N'4�'$<��์
O'4O���6� �7Q/O�6�ค/6#�5�N��Q��6%%4�< ;Q��9PN�O6/#6$ O'4R#N26#6%��%/�21�R�O/N6�6%�7N�8��6%
26#6%�O�OR��ั�/6R�O1$N6�R% �%4�1��5�คN6N�O6/#6$ �5/�9 Q/5�"6$Q�OO��O#N���6%�%8/6%  �5��6%
�%5 $6�%�Q7 `^ �? 26#6%��7/��R�ON 9$�%4�5��'�'8�O'4�''5 �์ �:P�R#N26#6%�2N��'�%4��R�2=NN�O6/#6$
�1�O��O#N���%4N�O��9P _g �:P�N�O�คN6N�O6/#6$N�8��'�%4��R�O 19��5Q��ั��5$�O6���/#6$�9PN�9P$/�O1��5�    
�6%�%8/6%�5��6%�%5 $6�%�Q7 R�OO�N  %4%6��&1�9�6�7/��'<N#�Q7  .0. `cdb O'4 %4%6��5��5�8
�7/��O��O'4�5Q��1��6%�%4�6$17�6�Q/OO�N1�ค์�%��ค%1�2N/��O1��8P� �:P�2N��'Q/O�O1�#9�6%���/�
O'4�%5��%<�คN6N�O6/#6$ �'$<��์O���6� O'4�6%�7/��/�N/$�6� �6%%5��8��1�Q/O21�ค'O1��5��%8��  
�9PN�'9P$�O�'�R� �5��5Q�N ;P1Q/OO��O#N���6%�%8/6%�5��6%�%5 $6�%�Q7 `^ �? #9ค/6#2#�=%�์ค%��O/� 
21�ค'O1��5��80�6��P$�6$�6% 5��6�%4N�0 O'4��/#6$�9PN�9P$/�O1��5��6%�%8/6%�5��6%�%5 $6�%�Q7 

Q��ั��<�5� �:�#9ค/6#�7N�O��O1��%5��%<��%1�O�/�6� O'4คN6N�O6/#6$O��O#N���6%�%8/6%�5��6%�%5 $6�%�Q7 
`^ �? Q/O21�ค'O1��5��%1�O�/�6��6% 5��6 คN6N�O6/#6$ O'4�5/�9Q/5��1�O��O#N��"6$Q�O$<��062�%์
�6�8�%4N�O��9P _g �6%�%8/6%�5��6%�Q7�5 Q�%4�� O�� 5��6N0%1��8�O'425�ค#O/N��6�8 ��5��9 P _a  
( .0. `cdd - `ce^) N�O6/#6$�6% 5��6�9P$5 P�$;� (SDGs) O'4�%5��%<�/�N/$�6��7N�8��6%"6$Q�O                
O��O#N���5��'N6/Q/O21�ค'O1��5�"6%�8��6#��/#6$�9PN�9P$/�O1�Q��ั��<�5�  
�%0�/��2%�1��3O��O#N�� 

Q��%4�/��6%/6�O��N#;P1�5��7O��O'4�7R�2=N�6%��8�5�8Q��N/�%4$4N/'6/�:P� #9�6%�8��6#  

O'4�%4N#8��'28P��9P�7/��R/OQ�O��/N6#9ค/6#�O6//�O6O'4ค/6#27N%O�#6��O1$N 9$�Q� N#;P12�6��6%�์  

#9�6%N�'9P$�O�'�R��6�N�8#�7N�O��O1��7�'�6%�%4N#8�#6Q�OQ��6%�%5��%<�/N 8P#N�8#Q/O26#6%�O�OR�
�ั�/6N�8# %1�%5�ค/6#�O1��6%O'4�6%N�'9P$�O�'��9PN�8��:Q� O'4$�%4�5��6% 5��6Q/O�9�:Q�  



` 

O��O#N���6%�%8/6%�5��6%�%5 $6�%�Q7 `^ �? ( .0. `cd_ - `cf^) #9�6%�%4N#8�O'4�%5��%<�
O�/�6��6%�7N�8��6��6��O6�Q/ON/#642#$8P��:Q� 21�ค'O1��5�O��$<��062�%์�6�8 `^ �? ( .0. `cd_ - `cf^) 
26#6%�/5��'R�O�5 Q�%4�5��'�'8� �''5 �์ O'4�'25#&��8 N N#; P1#9�6%�7N�8��6��6#O���6�#6O'O/ c �?            
(�? `cd_ - `cdc) �6��6%�8��6#�%4N#8��' �/N6O���6�$5�#9�N1�/N6� �%4N�O� Cross Cutting O'4
2"6/4O/�'O1# �6%�7N�8��6��6�O���6��O1$�/N6N�O6/#6$�9P/6�R/O �6�O���6��7N�8��6%��ค%�
N�O6/#6$ P�$�4�%5��%<��5/�9Q/5�O'4คN6N�O6/#6$Q/ON/#642#�5�2�6��6%�์�ั��<�5� �7/���%1�O�/ค8�
�6%�%5��%<��5��9Q 

_)  8�6%�6�6%�8��6#�%4N#8��' �'�'8� �''5 �์ O'4�'25#&��8N�1�Pค%��6%/O���6� O'4      
Q��%4N�O��%428��8"6  �%428��8�' N ;P1�6%�%5��%<��6%�7N�8��6%Q/O26#6%�O�OR��ั�/6O'4N�O�R��6#
N�O6/#6$  

`) '��N1�/N6� �ั�/61<�2%%ค �O1�7�5� �9P�7Q/OR#N�%%'<N�O6/#6$O��O#N���6%�%8/6%�5��6%�Q7
�1��%4N�0 �6%�%4N#8��5��9ค/6##5P�ค��O6��Q7O'4�6% 5��61$N6�$5P�$;� (SDGs) P�$�6%���/��P$�6$
$<��062�%์�9PN�9P$/�O1� O'4/8Nค%64/์�6%�7N�8��6��9P$5��7Q/OR#N�%%'<N�O6/#6$ N ;P1�%5��%<��%1�O�/�6� 
�'$<��์ O���6� "6$Q�OO��O#N���6%�%8/6%�5��6%�%5 $6�%�Q7 `^ �?  

a) ���/� �%5��%<��5/�9Q/5� คN6�5Q��O��6%�%4N#8� (Base Line) คN6N�O6/#6$�1�O�N'4�'$<��์ 
O���6� Q/O#9�'24�O1��5��5/�9Q/5��1�O��%4�5� ` O'4 SDGs O'4���/���/#6$ ��%4N�9$��9PN�9P$/�O1� 
�7/��/�N/$�6�%5��8��1�Q�O�N'4�'$<��์ O���6� Q/O21�ค'O1��5�2�6��6%�์ ���6�O'4"6%�8�               
�1�/�N/$�6��ั��<�5� 

b) N 8P#N�8#/%;1�%5��%<�O���6�/O���6�$N1$ P�$�6%ค6��6%�์O�/P�O#�9P�4N�8��:Q�N ; P1Q/O         
#9�6%N�%9$#ค/6# %O1# #9O�/�6�Q/#NN%8 P#��'1� /8�5$N ;P1�$6$�'�6%�7N�8��6�%1�%5�2�6��6%�์          
Q�1�6ค� P�$#9O�/ค8�N 8P#N�8#O���6�/�8��%%#�9P$5�R#N26#6%��7/��N�O6/#6$R�O�5�N��Q/O/�N/$�6�
�7�6%0:�16O'4N�%9$#ค/6# %O1#�7/��R/OQ�O��O#N��3�Q7 �N1�#9�6%�7N�8��6�N�O#%=�O�� 

c) �%4N�O��9 P#9�6%N�;P1#P$��5�Q�/'6$N%;P1� (Cross Cutting) /%;1�9P#9�'�%4���6�"6$�1� 
�4�O1��7#6 8�6%�6ค/6#N�;P1#P$�Q��6%/6�O�� /%;1/8Nค%64/์�'�%4���N1�6%�5��6%�Q7 /%;1Q�O�6%�5��6%�Q7
N ;P1'��'�%4���5Q� N  

d) N 8P#O���6�/�8��%%#Q/#NO'4�7/��N�O6"6  /�N/$�6� N ;P1�7�5�O'4�5�Nค';P1��6��9P�O1�
�=%�6�6%/'6$/�N/$�6�/%;1Q�%4�5� ;Q��9P $�N'8�O���6��9P�Q7�O1�/%;1�7N�8��6%O'O/N2%O� 

e) �5��%4�<#%5�!ั�ค/6#ค8�N/O��6��= O#92N/�R�O2N/�N29$ �5 Q�/�N/$�6�%6��6% "6ค�%4�6�� 
"6คN1��� O'4�=O#92N/�R�O2N/�N29$1;P�N 
 

�%อ�O�/ค4��2%�3N�4��2� 
 _) $:�O�/�6��6#/'5��%5��6�1�N0%1��8� 1N 9$� ค;1 ค/6# 1�%4#6� ค/6##9N/�<�'               
ค/6##9"=#8ค<O#�5��9P�9 "6$Q�ON�;P1�R�ค/6#%=OO'4N�;P1�R�ค<��%%# 
 `) $:�$<��062�%์�6�8%4$4 `^ �? ( .0. `cd_ - `cf^) <$8��022�%์�5P c $8��022�%์�O2��2%2%O2�
�2%N�4�P���ค8�"2 �5/4��5PN�็�#4�%�Nอ24P�O/�'Oอ#= Q��%4N�O�/'5��9P c._ <2%O6��6%N�8�P�1$N6�$5P�$;� 
��25�ค#N0%1��8�29N�9$/ Q�N%;P1� <�6%1�<%5�1์!AQ�!=O#N�Q7'7ค'1�O'4O/'N��Q7�%%#�6�8�5P/�%4N�0=     
O'4�%4N�O�/'5��9P c.c  5��6ค/6##5P�ค��Q7  '5��6� O'4N�1�% �9PN�O�#8�%�N128P�O/�'O1# Q�N%;P1� < 5��6 
�6%�5��6%�Q7N�8�'<N#�Q7�5Q�%4�� N ;P1N 8P#ค/6##5P�ค��O6��Q7�1��%4N�0= O'4N%;P1� <N 8P#�'8�"6 �1��Q7         
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�7�/��%4N�0�9P#9$<��062�%์�6%'�ค/6#N29P$��6�"5$ 8�5�8Q�%4�5��6�8O'4�O1��8P� , N�O6/#6$ F N 8P#
�%428��8"6 ค/6#%N/##;1%4//N6��%4N�0Q/OO�N�%4N�0�7'5� 5��6, N�O6/#6$ G N 8P#�%8#6�O'4�6%N�O6�:�
�1�%4��N�;1�"5$'N/�/�O6 O'4�O1#='ค/6#N29P$�"5$ 8�5�8) #9�'�6%�%4N#8�%4�5� a  

�2%�1��2%ค8�"2 �Q3O'0อ�8%1�1์�%1 $2�%�Q3 #925�2N/��1��Q7N29$�9PR�O%5��6%�7�5�1$N6��'1�"5$ 
%O1$'4 _c.ec (ค ., `cdb) 27/%5��5��9ค/6#2#�=%�์�1�O#N�Q7 (River Health Index) /�N/$�6��9P
N�9P$/�O1�$5�R#N#9�6%�%4N#8��6#�%1� ADB P�$�%� �:�Q�OคN625�2N/��1�O/'N��Q7�9P#9ค<�"6 �Q7P�$%1��9P�9
�1��%#ค/�ค<##' 81N�O��5/O�� �:P�#9คN6N�N6�5�%O1$'4 b` (ค ., `cdb)  

�2%อ�8%1�1์!?้�!92"2 �N2�O��Q3�5PN27Pอ#P�%#O'0�Oอ��1��2% 1��'2$�อ��4�  $5�R#N#9�6%�%4N#8�
/%;1�5�N�O��O1#='P�$�%��1��5/�9Q/5�  

�%%#2"4�2'Q��2%�%4ห2%�1��2%�%1 $2�%�Q3 Q�OคN6�6%�%4N#8��5/�9Q/5� SDG d.c._ %4�5��6%
�7N�8��6��6%�5��6%�%5 $6�%�Q7O���=%�6�6% ( IWRM) (^-_^^) �:P�R�OคN6ค4O�� %O1$'4 ca O�� 
(2���., `cda)  

 
�'21#&��4์�อ�O�N'0O��$Nอ$"2$Q�OO��O#N���2%�%4ห2%�1��2%�%1 $2�%�Q3 `^ �? ( .0. `cd_ - 

`cf^) �NอN�O2ห#2$O'0คN2N�O2ห#2$�อ�O�N'0O��$Nอ$ 
  O��O#N���O2��5P _ �2%�1��2%�Q3อ8�P"ค�%4P"ค 
  (_) N�O2ห#2$%/#  
       �5�/6�Q72416�N ;P1�6%1<�P"ค�%8P"คQ/OO�N�<#�� ค%��<�/#=N�O6�/%;1�<�ค%5/N%;1� 
�<#��N#;1� O/'N��N1�N�9 P$/27ค5� O'4 ;Q��9 PN0%1��8� 8N01 %/#�5Q��6%�5�/6O/'N��Q727%1�Q�  ;Q��9P 
�:P��6�Oค'�O/'N��Q7�O��<�  5��6�Q7�;P#Q/OR�O#6�%�6�Q�%6ค6�9PN/#642# O'4�6%�%4/$5��Q7 P�$'��6%Q�O�Q7
"6คค%5/N%;1� "6ค�%8�6% O'4"6ค%6��6% 
  (`) คN2N�O2ห#2$%/#  

_. �6% 5��6 �$6$N��O'4N 8P#�%428��8"6 %4���%4�6/#=N�O6� 
�5/�9Q/5� /#=N�O6��9PR�O%5��6%N 8P#�%428��8"6 %4���%4�6 : c,be` /#=N�O6� 

`.  5��6�%4�6N#;1�/ ;Q��9PN0%1��8� 
�5/�9 Q/5� �$6$N��/N 8P#N���N6$�Q7 : �7�/� `,ce^ O/N�/26�6 �7�/� ̀ f^,^^^ 
ค%5/N%;1� 
�5/�9Q/5� %4���%4�6N#;1�/'5�/ ;Q��9PN0%1��8�/O/'N��N1�N�9P$/ : �7�/� cc O/N� 
�7�/� efg,gf^ ค%5/N%;1� 
�5/�9 Q/5� �5�/6O/'N��Q727%1�/�5�/6�Q7�O��<� : �7�/� cg O/N� �%8#6��Q7 

e` 'O6� '�.#. 
�5/�9Q/5� '��6%2=�N29$�Q7Q�%4���N12N��N6$�Q7�%4�6 : R#NN�8�%O1$'4 `c 



_` 

a.  5��6�Q71<�P"ค�%8P"คQ/OR�O#6�%�6�O'4%6ค6�9PN/#642# 
�5/�9Q/5� /#=N�O6��9PR�O%5��6%�%5��%<�Q/OR�O#6�%�6� : %O1$'4 `^ 
�5/�9Q/5� %4���%4�6�9P�N6�#6�%�6��%4�6�;P#R�O : %O1$'4 _f 
�5/�9Q/5�  5��6�Q7�;P#2416��9PR�O#6�%�6�O'4%6ค6�9PN/#642# : �7�/� `,g__ O/N� 
ค%5/N%;1��9PR�O%5��%4P$��์ ̀ eb,a^^ ค%5/N%;1� �6%'�'��1��=O�N/$�6��Q7�;P#%O1$'4 ̀  

b. �6%�%4/$5��Q7�<�"6ค2N/� 
�5/�9Q/5� �%8#6��6%Q�O�Q7 : R#NN�8� `ab '8�%/ค�//5� 
�5/�9Q/5� /�N/$�6�%5��9P'��6%Q�O�Q7R�OR#N�O1$�/N6%O1$'4 _^ : %O1$'4 `^ 

  �'21#&��4์�อ��2%�3N�4��2� 
  �6%�7N�8��6�N ;P1�6%�5��6%�Q71<�P"ค�%8P"ค #9/#=N�O6��9PR�O%5��6%N 8P#�%428��8"6 %4��
�%4�6 c,^^c O/N� �$6$N��/N 8P#N���N6$�Q7 �7�/� _,^^` O/N� ค%5/N%;1�R�O%5��%4P$��์ ``e,dge 
ค%5/N%;1� %4���%4�6N#;1�/'5�/ ;Q��9PN0%1��8�/O/'N��N1�N�9P$/ �7�/� d^ O/N� ค%5/N%;1�R�O%5��%4P$��์ 
fc,aad ค%5/N%;1� #9�6%�5�/6O/'N��Q727%1�/�5�/6�Q7�O��<� �7�/� _` O/N� �%8#6��Q7 _`.fc 'O6� '�.#. 
�5Q��9Q Q��6%�7N�8�Pค%��6%�%5��%<��N1N ;P1'��Q72=�N29$ (Q�%4���N12N��N6$�Q7�%4�6) �1�/�N/$�6�        
�9PN�9P$/�O1�  �/N6 #9�6%ค/�ค<#�6%2=�N29$%O1$'4 a^.eg �'�6%�7N�8��6�2=��/N6N�O6/#6$�1�O��%4$4 
c �?O%� 27/%5��6%�%5��%<�%4���%4�6/#=N�O6�Q/OR�O#6�%�6� (SDGs) P�$�6%N�O6%4/5�ค<�"6 �Q7�%8P"ค
Q�ค%5/N%;1� N�O��6%�%4N#8�ค/6#N29 P$�Q��6%�%8P"ค�Q7�1��%4�6���6#/'5��6%/8Nค%64/์ AAIM         
N ;P1N�%9$�N�9$��5�N���์�Q7�%4�6�;P#R�O �%#1�6#5$  .0. `cda  �/N6 #9%O1$'4 af.bf �1�%4���%4�6
�9P�N6�#6�%�6��%4�6�;P#R�O �:P��'�6%�7N�8��6�2=��/N6N�O6/#6$�1�O��%4$4 c �?O%� 

 
O��O#N���O2��5P ` �2%2%O2�ค/2##1P�ค��อ��Q3"2ค�2%�'4� 

  (_) N�O2ห#2$%/#  
        5��6O/'N�N�O��5��Q7O'4%4��2N��Q7Q/#NQ/ON�O#05�$"6   %O1#�5Q��6%�5�/6�Q7Q� ;Q��9P
N�1�%�Q7�� N ; P1�$6$P1�62�6�05�$"6 Pค%��6%��6�N'O�O'4'�ค/6#N29 P$�Q� ;Q��9 PR#N#905�$"6          
'�ค/6#N29P$�/ค/6#N29$/6$'� %O1$'4 c^ %/#�:��6%N 8P#�'8�"6 O'4�%5�Pค%�2%O6��6%Q�O�Q7 P�$�7N�8��6%
%N/#�5�$<��062�%์�6�8�O6��6%2%O6�ค/6#26#6%�Q��6%O�N��5�O'4�O6��6%2%O6�P1�62O'4ค/6#N2#1"6ค
�6�25�ค#N ;P1$�%4�5��'8�"6 �O6��Q7�5Q�%4�� 
  (`) คN2N�O2ห#2$%/# 

_. �6%�5��6%�O6�ค/6#�O1��6% 
�5/�9Q/5� '��6%Q�O�Q7"6คN�1�%O'4�7�Q7�'5�#6Q�OQ/#NQ�N�� ;Q��9P�'�%4�6�  : 
�%8#6��Q7�9P�%4/$5�R�O af 'O6� '�.#./�? 
�5/�9Q/5� �6%'��6%Q�O�Q7"6ค1<�26/�%%# : �%8#6��Q7�9P�%4/$5�R�O a 'O6� '�.#./�? 

`. N 8P#�%428��8"6 Pค%��6%O/'N��Q7 O'4%4��2N��Q7N�8# 
�5/�9Q/5� �%5��%<��%428��8"6 O/'N��Q7/%4��2N��Q7N�8# : �%8#6��Q7Q�O�6% d,__b 
'O6� '�.#. 
�5/�9Q/5� N 8P#�%8#6��Q7�O��<�Q�Pค%��6%O/'N��Q7N�8# : �7�/� cc O/N� �%8#6��Q7 
acd 'O6� '�.#. 
 



_a 

a. �6%�5�/6�Q7Q� ;Q��9PN�1�%�Q7�� 
�5/�9Q/5� 1�<%5�1์ !AQ�!=  5��6O/'N��Q7 ( ;Q��9PN�1�%�Q7��) : �%8#6��Q7�9PN 8P#�:Q� 
`,e^_ 'O6� '�.#. 
�5/� 9 Q/ 5�  5��6%4���%4�6$�Q7Q� ; Q��9 P N�1�%�Q7�� :  ; Q��9 P% 5��%4P$��์  
`,e`c,afg R%N 
�5/�9Q/5� O/'N��Q7N ;P1�6%1�<%5�1์�8�O'4�Q7/O/'N��Q7�<#��/2%4�Q7Q�R%N�6 : �7�/�  
``c,a`_ O/N� �%8#6��Q7 aa^ 'O6� '�.#. 
�5/�9Q/5�  5��6�Q7�6�6'N ;P1�6%N�1�% : �%8#6��Q7 _fd 'O6� '�.#.  ;Q��9P%5�
�%4P$��์ a_^,de^ R%N 

b. �6% 5��6O/'N�N�O��5��Q7/%4��2N��Q7Q/#N 
�5/�9Q/5�  5��6O/'N�N�O��5��Q7/16ค6%�5�ค5��Q7/%4��2N��Q7Q/#N : �7�/� `,a_` 
O/N� �%8#6��Q7 _,_b^ 'O6� '�.#. �%8#6��Q7�9P�%8/6%�5��6%R�O e_a 'O6� '�.#. 
 ;Q��9P#9%4��2N��Q7 `,_da,^^a R%N 
�5/�9Q/5�  5��6O/'N��Q7�6�N';1� : �%8#6��Q7 fb 'O6� '�.#. 

c.  5��6%4���5��Q7O'4%4��N�;P1#P$�O/'N��Q7 
�5/�9Q/5� �%8#6��Q7 : c`` 'O6� '�.#. 

d. �6%N 8P#�'8�"6 #='คN6"6ค�6%�'8� 
�5/�9Q/5�  ;Q��9P�7N�8��6%�O�O�� O'4 ;Q��9P�$6$�'R�Q� ;Q��9P�9P 5��6O/'N��Q7O'4
%4��2N��Q7 : c_^ O�'� 
�5/�9Q/5�  ;Q��9P�7N�8��6%�O�O�� O'4 ;Q��9P�$6$�'R�Q� ;Q��9P�9P 5��6O/'N��Q7O'4
%4��2N��Q7 : `,cc^ R%N 

e. N 8P#�Q7�O��<�P�$�6%��8�5�8�6%��/'/� 
�5/�9Q/5� %O1$'4 ;Q��9P�6%N�1�%�9P�%42�"5$O'O�R�O%5��6%�N/$N/';1�6#O���6�
��8�5�8�6%��/'/� : %O1$'4 f^ 
�5/�9Q/5� %O1$'4ค/6#27N%O��1��6%��8�5�8�6%��/'/�N�8#�Q7Q�N�;P1��6#�9P%O1��1 : 
%O1$'4 ec 
 

  �'21#&��4์�อ��2%�3N�4��2� 
  �6%2%O6�ค/6##5P�ค��1��Q7"6ค�6%�'8� R�O#9�6% 5��6O/'N�N�O��5��Q7/16ค6%�5�ค5��Q7/
%4��2N��Q7Q/#N (N�1�%O'41<�26/�%%#) Q� ;Q��9P�'�%4�6� �7�/� _,b`^ O/N� �%8#6��Q7 d^_.c_ 'O6� '�.#. 
 ;Q��9P%5��%4P$��์ _,_fg,gcb R%N  %O1#�5Q��6%�5�/6�Q7Q� ;Q��9PN�1�%�Q7�� �6��6%�7N�8��6%Pค%��6%
1�<%5�1์!AQ�!= 5��6O/'N��Q7 Pค%��6% 5��6%4���%4�6$�Q7Q� ;Q��9PN�1�%�Q7�� Pค%��6%O/'N��Q7N ;P1�6%1�<%5�1์
�8�O'4�Q7/O/'N��Q7�<#��/2%4�Q7Q�R%N�6 O'4Pค%��6% 5��6�Q7�6�6'N ; P1�6%N�1�% #9�%8#6��Q7 
g_^.d_ 'O6� '�.#.  ;Q��9P%5��%4P$��์ `,_fg,dab R%N ค%5/N%;1�%5��%4P$��์ dfc,`gc ค%5/N%;1� 
�1��6��9Q �%#��/'/�O'4�6%�8�N�1�%R�O�7N�8��6%��8�5�8�6%��/'/� N ;P1�%%N�6/O�OR��ั�/6"5$O'O�
O'4N 8P#�%8#6��Q7N�O��5�Q/O�5�1N6�N�O��Q7/N�;P1� �6#O����8�5�8�6��%4�7�?O'4�6#�9P#9�6%�1%5��%8�6% 
Q/O��8�5�8�6%��/'/��N/$N/';1 P�$Q��N/� c �?�9P�N6�#6 #9%O1$'4 ef.c^ - f^.gf �1� ;Q��9P�6%N�1�% 

�9P�%42�"5$O'O�R�O%5��6%�N/$N/';1�6#O���6���8�5�8�6%��/'/� 



_b 

   
O��O#N���O2��5P a �2%�1��2%�Q3�N/#O'0อ8��"1$ 

  (_) N�O2ห#2$%/# 
       N 8P#�%428��8"6 �6%%4�6$�Q7 �6%�5�%4���O1��5��Q7�N/#�<#��N#;1� �6%�5��6% ;Q��9P
�Q7�N/#O'4 ;Q��9P�4'1�Q7 %/#�5Q��6%�%%N�61<��"5$Q�N�8� ;Q��9P1$N6�N�O�%4��Q�%4�5�'<N#�Q7O'4 ;Q��9P/8�&� 
(Area based) '<N#�Q7��6�Q/�N '<N#�Q726�6/'�ค/6#N29P$�O'4ค/6#%<�O%�'�R#N�O1$�/N6 %O1$'4 d^  
  (`) คN2N�O2ห#2$%/# 

_. N 8P#�%428��8"6 �6%%4�6$�Q7 
�5/�9Q/5� �%5��%<�28P��9��/6��6��Q7 : �7�/� cd` O/N� 
�5/�9Q/5� �%5��%<�'7�Q7�%%#�6�8�9P�;Q�N�8� : �7�/� bgg O/N� %4$4�6� `,_`` �#. 
�5/�9Q/5� �7�5�/5� ;�O'4�$4#='�1$Q�O#N�Q726$/'5�/O#N�Q726�6/O/'N��Q7�>� :  
R#N�O1$�/N6 e,b^^,^^^ �5��N1�? 

`. �6%�O1��5��Q7�N/#�<#��N#;1� 
�5/�9 Q/ 5� %4���O1��5��<#��N#;1� : �7�/� _ca O/N�  ; Q��9 PR� O% 5��6%�O1��5� 
a^b,_dc R%N 
�5/�9Q/5� �5��Q7/�5��6%%4�6$�Q7 : �<�'7�Q726$/'5�/�5�N#;1�%/#�5�//5� bb �5�//5� 
�5/�9Q/5� N�;P1��O1��5��'8P� : %4$4�6� cag �8P'N#�% 

a. �5��6% ;Q��9P�Q7�N/#/ ;Q��9P�4'1�Q7 
�5/�9Q/5�  5��6O'4�%5��%<� ;Q��9P�4'1�Q7 : �7�/� _a O/N� �%8#6��Q7 `,^c^ 
'O6� '�.#. 
�5/�9Q/5�  5��6 N 8P#�%428��8"6 16ค6%�5�ค5��Q7/2�6�92=��Q7N ;P1�%%N�61<��"5$
Q� ;Q��9PN� 64�<� : �7�/� g_c O/N�  ;Q��9P%5��%4P$��์ a,g^d,fge R%N 

b. �%%N�61<��"5$Q�N�8� ;Q��9P1$N6�N�O�%4��Q�%4�5�'<N#�Q7/ ;Q��9P/8�&�8 
�5/�9Q/5� %O1$'4�6%�5��7O���%%N�61<��"5$Q�N�8� ;Q��9P1$N6�N�O�%4��Q�%4�5�'<N#�Q7/
 ;Q��9P/8�&�8 : �5��7O�� _^^% 
�5/�9Q/5� %O1$'4 ;Q��9PR�O%5��6%O�OR��ั�/6 : %O1$'4 d^ 

c. �6%2�5�2�<��6%�%5��5/O'4N��8�N/�< 
�5/�9Q/5� %O1$'4 ;Q��9PN29P$��6�1<��"5$R�O%5��6%�5��6%�O/$�6%�%5��5/O'4N��8�N/�< 
: %O1$'4 _^ 

 
  �'21#&��4์�อ��2%�3N�4��2� 
  N 8P#�%428��8"6 �6%%4�6$�Q7 P�$�6%�%5��%<�28P��9��/6��6��Q7O'4�%5��%<�'7�Q7
�%%#�6�8�9P�; Q�N�8� %/#�5Q�28 Q� a_d O/N� �6%�7�5��5����/6N�'9P$ _,e_d,g_e �5��N1�? 27/%5��6%
�5�%4���O1��5��Q7�N/#�<#��N#;1� /�N/$�6��9PN�9 P$/�O1�R�O�7N�8��6%�N12%O6�%4���O1��5��<#��N#;1� 
�7�/� _f O/N� #9 ;Q��9P�9PR�O%5��6%�O1��5� b^,bbf R%N �7N�8��6%�N12%O6�N�;P1��O1��5��'8P�N�O�%4$4�6� 
`ba �8P'N#�% ค%5/N%;1��9PR�O%5��6%�O1��5� _,b^e ค%5/N%;1� %/#�5Q��6%�5��6% ;Q��9P�Q7�N/#O'4 ;Q��9P�4'1�Q7 
#9�6% 5��6O'4�%5��%<� ;Q��9P�4'1�Q7 _a O/N� 26#6%��%4�6$�Q7N�O6�<N��%8#6��Q7 _,efe 'O6� '�.#. 
N�O�R��6#O���9P�7/�� 



_c 

  27�5��6��%5 $6�%�Q7O/N��6�8 R�O�7N2�1 (%N6�) �5��Q7O'4%6$�6%�%4�1��5��Q7 `` '<N#�Q7 
�N1ค�4�%%#�6%'<N#�Q7N ;P1%5�!ั�ค/6#ค8�N/O� P�$�5��Q7�9P�7N�8��6%O'O/N2%O�#9�7�/� f '<N#�Q7 R�OO�N �9 #=' 
N�O6 %4$6 24O��%5� �N625� �N6�9� O#N�'1� O'4�6��4�� �1��6��9Q R�O#9�6%0:�16O'4�5��7O��/'5�    
N ;P1�6%�%%N�61<��"5$O'4"5$O'O�Q� ;Q��9PN�O6/#6$ (Area Based) O'O/�7�/� ad  ;Q��9P (�6��5Q�/#� ba  ;Q��9P) 
27/%5��6%�%%N�61<��"5$Q�N�8� ;Q��9P1$N6�N�O�%4��Q�%4�5�'<N#�Q7O'4 ;Q��9P/8�&� 
  

O��O#N���O2��5P b �2%�1��2%ค8�"2 �Q3 O'0อ�8%1�1์�%1 $2�%�Q3 
  (_) N�O2ห#2$%/#  
        5��6O'4N 8 P#�%428�� 8"6 %4��%/�%/#O'4%4���7�5��Q7N2 9$%/#�1�� <#��  
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�7N�O� N%N��N/� O'42N��'�%4��R�2=NN�O6/#6$�1�O��%4�5��6�8R�O�6#N�O6/#6$�9P�7/�� 



_g 

 c.c /�N/$�6�N�O6�1��O1#='2�8�8�O6��Q7�9P27ค5�O'4�7N�O�27/%5��6%/8Nค%64/์O'4�%4N#8��'�5��9
�5/�9Q/5��1�O��O#N��"6$Q�O$<��062�%์�6�8 �%4N�O��9P _g �6%�%8/6%�5��6%�Q7�5Q�%4�� (O��%4�5��9P `) 
O'4N�O6/#6$�6% 5��6�9P$5P�$;�N�O6/#6$�9P d (SDGd) $5�R#N#9�6%�5�N�O��O1#='�9PN�O��ั��<�5�O'4�N1N�;P1� 
 c.d �6��6%N�; P1#P$��6��O1#='�1�/�N/$�6�27ค5��9 P#9�6%�5��7O�� %6$�6��6%Q�O�N6$
���%4#6� �O1#='2�8�8�O6��%5 $6�%�Q7#8�8�N6� N %/#�5Q��6%%6$�6�1$N6��N1N�;P1� N�N� �%#�5��9�'6� 
(�O1#=' GFMIS) 27�5����%4#6� (�O1#=' e-Budgeting) 27�5��6�2"6 5��6�6%N0%1��8�O'425�ค#O/N��6�8 
(eMENSCR) �%#�6% 5��6�<#�� (�O1#=' ���. O'4 ���.`ค) �6%�%4�6�ค%/'/�O'4�6%�%4�6       
2N/�"=#8"6ค 3'3 

 



`^ 

2N/��5P ̀  �2%�%0N#4�2�2��2%�์�5PN�5P$/�Oอ��1��2%�%4ห2%�1��2%�%1 $2�%�Q3  
 

01�$"2 �%1 $2�%�Q3Q��%0N�0 
�%4#2��Q3�� 
 ;Q��9P�%4N�0R�$�%4�1��O/$ `` '<N#�Q7/'5� 2"6  ;Q��9P�5Q�1$=N"6$Q�O18��8 '�1�'##%2<# ` ��8� 

R�OO�N '##%2<#�4/5���N�9$�Q�O O'4'##%2<#�4/5�11�N�9$�N/�;1 P�$�9P'##%2<#�4/5���N�9$�Q�O 5���ค'<#
�%4N�0R�$%4//N6��'6�N�;1� &1"6ค#�:��'6�N�;1��<'6ค# #9�%8#6���%6$�?N�'9P$�5P/�%4N�0�%4#6� 
_,bfd #8''8N#�% #9ค/6#�5�O�%�6# ;Q��9P%4//N6� g^^ - b,^^^ #8''8N#�%�N1�? �5�O2��Q�%9��5P `-_ 

�%4#2��Q3�4/�4� 
�%8#6��Q7�N6�6#�%%#�6�8 (Natural Flow) �:P�N�O��%8#6��Q7���8/�8��9PN�8��6��� P�$/5��6%�:#

'�Q�O�8� O'4�6%%4N/$O'O/ #9�%8#6�%/#�5P/�%4N�0 `^a,f_d 'O6�'=��60�์N#�% P�$'<N#�Q7�9P#9�%8#6�
�Q7�N62=� R�OO�N '<N#�Q7"6คQ�O�ัP��4/5�11� O#N�'1� #=' �9 P���4/5�11�N�9$�N/�;1 �6#'7�5� Q���4�9P'<N#�Q7
�9P#9�%8#6��Q7�N6�O1$�9P2<� R�OO�N '<N#�Q7/5� N �%�<%9 -�%4�/�ค9%9�5��์ 24O��%5� O'4P��N'26� �6#'7�5� 
27/%5�'<N#�Q7�9P#9�%8#6��Q7�N6%6$�?�N1 ;Q��9P'<N#�Q7#6��9P2<� R�OO�N '<N#�Q7"6คQ�O�ัP��4/5�11��1�'N6� O'4�O1$�9P2<� 
R�OO�N '<N#�Q7N �%�<%9-�%4�/�ค9%9�5��์  

�%4#2��Q3�2�2' 
�%4N�0R�$#9�%8#6��Q7�6�6'�9P26#6%��7#6Q�OR�O�5 Q�/#� bc ,afc 'O6�'=��60�์N#�%�N1�? 

�5�//5��9P#9�%8#6��6%Q�O�Q7�6�6'#6��/N6 c^^ 'O6�'=��60�์N#�%�N1�? R�OO�N �5�//5�N�9$�Q/#N 2<P��5$  
 81�<P'� �7O �N �%  8�8�% N �%�=%�์ �ค%2/%%ค์ 2<%8��%์ 0%924N�1 O'4�5�//5�1<�'%6��6�9 �5�//5��9PQ�O
�Q7�6�6'#6��9P2<� ค;1 �5�//5� 8�8�% #9�%8#6��6%Q�O�Q7�6�6' ffb.ce 'O6�'=��60�์N#�%�N1�? O'4�5�//5�
�9PQ�O�Q7�6�6'N�8��%8#6��Q7�6�6'�9P26#6%�Q�OR�O #9�5Q�/#� e �5�//5� R�OO�N �5�//5� 8�8�%  �ค%2/%%ค์ 
�7O �N �% 2< %%��<%9 28�/์�<%9 1N6��1� O'4�5�//5�2#<�%26ค% 

�O1#='�N1�Q7�6�6'Q��? `cdb �6�%4��26%2�N�0N ; P1�6%ค/�ค<#�8��6%�Q7�6�6' (GCL)  
#9�N1�Q7�6�6'�9P�11�<�6�Q�O�Q7�6�6'�5Q�/#� _^` ,fbc �N1 �%8#6��6%Q�O�Q7�6�6'�6#Q�1�<�6�%/#
�5Q�/#� `d,^ff.ae 'O6�'=��60�์N#�%�N1�? %4���6��O1#='�%5 $6�%�Q7�6�6' (Smart Pasutara)        
#9�5 Q�/#� aa_ ,^`` �N1 O�N�N�O� �N1�Q7�6�6'N ; P11<�P"ค�%8P"ค a_c .fe^ �N1 �N1�Q7�6�6'             
N ;P1�6%N�1�% _c,_c` �N1 O'4�O1#=' ;Q��6�%4�5�/#=N�O6� (���.`ค) �? `cda #9�5Q�/#� `,^ge,f`a �N1 

 
  



`_ 

 
   �9P#6 : 27�5��6��%5 $6�%�Q7O/N��6�8  .0. `cd` 

%9��5P 2- 1 O���9PO2��ค/6#N�O#O'4�6%�%4�6$�1���  



`` 

�%4#2��Q3�5P22#2%��%4ห2%�1��2%R�O 
�%8#6��Q7�N6�%%#�6�8N�'9P$�1��%4N�0R�$#9�%8#6� `^a ,f_d 'O6�'=��60�์N#�% P�$#9�6%

 5��6O/'N�N�O��5��Q7%/#ค/6#�< da,ff` 'O6�'=��60�์N#�% ค8�N�O�%O1$'4 a_ �1��%8#6��Q7�N6�%%#�6�8 
�7O��N�O�O/'N�N�O��5��Q7��6�Q/�N be,eb^ 'O6�'=��60�์N#�% ��6��'6� _^,ggc 'O6�'=��60�์N#�% 
O'4��6�N'O� c,_be 'O6�'=��60�์N#�%  

 

�2%Q�O�Q3O'0�2%�%4ห2%�1��2% 
 7Q��5PN�1�% 
�6��O1#='�6%Q�O�9P�8��1��%# 5��6�9P�8� �?  .0. `cd` #9 ;Q��9PN�1�% _ee.gg 'O6�R%N (%/# ;Q��9P 2��.) 

 ;Q��9P�'�%4�6��9PR�O%5��6% 5��6O'O/Q��ั��<�5� (�? `cdb) ac.`^ 'O6�R%N ค8�N�O�%O1$'4 `^ �1� ;Q��9PN�1�% 
�%4�1��O/$ Pค%��6%�'�%4�6���6�Q/�N _g.d` 'O6�R%N Pค%��6%�'�%4�6���6��'6� d.`f 'O6�R%N 
Pค%��6%�'�%4�6���6�N'O�O'42=��Q7�O/$R!!O6 g.a_ 'O6�R%N  ;Q��9P2N/��9PN/';1N�O� ;Q��9PN�1�%�Q7�� 
_b`.eg 'O6�R%N �: P��6%N 64�'=��: Q��5�2"6 "=#816�60Q�O�N'4�? #9ค/6#N29 P$��N 1�6%�6�Oค'��Q7  
/6�N�8����8Q��N/� �6� ;Q��9P1$=N/N6�R�'2"6 "=#8�%4N�0R#NN1;Q117�/$�N1�6%2N��Q7Q� ;Q��9P 

�?  .0. `cd` #9�6%Q�O�9P�8�N 64�'=� ;� _`e.`a 'O6�R%N   ;Q��9PN 64�'=�Q�N���'�%4�6� 
a^.^a 'O6�R%N Q� ;Q��9PN�1�%�Q7��#9 ;Q��9PQ�ON 64�'=� ge.`^ 'O6�R%N N�O� ;Q��9P�'=� ;�O��Q/O�Q7 ca.ef 'O6�R%N 
2N/��9PN/';1N�O� ;���O'O�O'4R#O$;��O��9PR#N#9�6%Q/O�Q7 ba.b` 'O6�R%N �5�O2��Q��2%2��5P `-_  ;Q��9PN�1�%
�Q7���9P#9�6%Q/O�Q726#6%��7O���6%Q�O�9P�8�R�O�5��2%2��5P `-` 2N/�Q/�NN�O� ;�16$<25 Q� ba.eg 'O6�R%N      
 ;Q��9PN 64�'=��5�O�%�6#�%8#6��Q7�9P#9Q�O�N'4&�= 2N/� ;Q��9P�'=��'R#O�9P#9#='คN62=��7N�O��O1�#9�6%Q/O�Q7 
�ั��<�5�N�1�%�%#9�6%�7�N1N�O��5��Q7Q� ;Q��9P��N1�%N/#�5��6%Q�O�Q7�6�6'  ;Q��9P�'=�1O1$#9�6%Q/O�Q7N2%8#
�%4#6�%O1$'4 a^ �1� ;Q��9P�5Q�/#� �:P�O/'N��Q7�4#6�6��Q7�6�6'/%;12%4N�O��5��Q7Q� ;Q��9PO'4O/'N��Q7
Q�'ONค9$� 
�2%2��5P 2- 1 �6%Q�O�9P�8��6%N�1�%�ั��<�5� 

'3�1�  �7Pอ'8N#�Q3  7Q��5PN�1�% (R%N)  7Q��5P�'�%0�2� (R%N)  7Q��5PN�1�%�Q3�� (R%N) 
�3N�็��Oอ�QหO�Q3 R#O$7��O�/ 7���O'O� 

_ 26'4/8� eff,c_g _a_,fgb cge,d__ cg,^_b 
` P��N/�;1 a,bdc,bdb ga`,a_^ _,e^f,_gb f`b,gd^ 
a P���4/5�11�N�9$�N/�;1 _b,^ba,bdg _,d`^,ccd e,abd,`ad c,^ed,dee 
b �9 _c,bgd,bcd `,dgf,gdb g,gdb,d_f `,fa`,feb 
c #=' `d,^`d,ged a,gfd,e`` _e,dgb,a^a b,abc,gc_ 
d �>� a,bcf,g_a _,c_d,^f_ _,_d^,gcc ef_,fee 
e /5� f_g,^eg bdg,ad_ `_d,e`e _a`,gg_ 
f $# b,gc^,c^` `,`ff,fcf `,_`^,cga cb_,^c_ 
g �N6� d,a_c,_ca `,ac_,_`f `,dec,bbg _,`ff,ced 

_^ N�O6 %4$6 e,`eb,c^c a,bge,fgb a,^ga,_ag dfa,be` 
__ 24O��%5� _,baa,``b ad^,ddd ebg,g^e a``,dc_ 
_` �N625� a,b`d,`_b cbe,__^ `,`^a,^dg ded,^ac 
_a �N6�9� b,f^e,deb a,`b`,agc _,^dd,ca^ bgf,ebg 
_b O#N�'1� `,bg_,dde f`f,a^a f^c,fbf fce,c_d 



`a 

'3�1�  �7Pอ'8N#�Q3  7Q��5PN�1�% (R%N)  7Q��5P�'�%0�2� (R%N)  7Q��5PN�1�%�Q3�� (R%N) 
�3N�็��Oอ�QหO�Q3 R#O$7��O�/ 7���O'O� 

_c �6��4�� a,gg`,fgf _,fbe,_df e_^,edc _,bab,gdc 
_d P��N'26� _,`^e,a__ _b_,fcd ee^,``g `gc,``d 
_e �6$�ัP��4N'�4/5�11� a,`cb,bde ccd,^e_ b`b,`aa `,`eb,_da 
_f N �%�<%9-�%4�/�ค9%9�5��์ _,ggf,f`` dgc,c`c _c^,_ef _,_ca,__g 
_g "6คQ�O�ัP��4/5�11�

�1��� 
g,`ca,aab ggc,egb `^b,^ae f,^ca,c^a 

`^ �4N'26�2��'6 a,e_d,ddg d^d,ef_ bg,g^_ a,^cg,gfe 
`_ "6คQ�O�ัP��4/5�11�

�1�'N6� 
a,`g_,ae` b_e,^ff `^,e^d `,fca,cef 

`` "6คQ�O�ัP��4/5��� c,e`c,fcb `gf,_b^ ba,fag c,afa,fec 
%/# _`e,`af,cb^ a^,^a^,dda ca,eee,^de ba,ba^,f_^ 

�9P#6: �%# 5��6�9P�8� `cd` �%#�'�%4�6� `cd` �%#2N�N2%8#�6%N�1�% `cd` 

  
�2%2��5P 2- 2 �6%Q�O�9P�8�Q� ;Q��9PN�1�%�Q7�� 

'3�1�  �7Pอ'8N#�Q3  
 7�อ2$821Q� (R%N)  7�อ2$8$2/ (R%N) %/# (R%N) �O2/ �O2/P �  7��1�  7�R%N R#O�'#9'คN229� อOอ$ 

_ 26'4/8� _cf,eag a^e,bbf `d,c^a f_,bab _c,^c_ f,bad cge,d__ 
` P��N/�;1 _,`^e,`__ _c_,dcg _b,^dg bc,e^c `fg,cc^ ^ _,e^f,_gb 
a P���4/5�11�N�9$�N/�;1 d,_^c,fad `ec,c_g f,g^a e`,_^a a^,fgf fc`,ged e,abd,`ad 
b �9 e,dee,df` __d,bee a_,feb _b,_d` g,gc` `,__b,be_ g,gdb,d_f 
c #=' _d,`c`,gg^ beg,fd` `^,gb` ba,db^ f,d`f fff,`b_ _e,dgb,a^a 
d �>� bae,eae _ed,efc `g,_`^ _b,__e `bc,_fd `cf,^_^ _,_d^,gcc 
e /5� _^b,cfg ff,gf^ `,eaf _,bdg _f,_bb f^d `_d,e`e 
f $# _,b^_,__c _e`,ced ``,ea` a`,d^f eg,f_` b__,ec_ `,_`^,cga 
g �N6� _,dde,ca` cda,^de a`,_`^ _aa,^_d cg,c`d ``^,_ff `,dec,bbg 

_^ N�O6 %4$6 _,efg,af_ _gg,gf^ fg,fbe ea,b`^ a,cfg gad,g`` a,^ga,_ag 
__ 24O��%5� beg,d^g df,a_b _,`e_ `,gab dg^ _ge,^g^ ebg,g^e 
_` �N625� f_e,edg beb,cb_ `d,_g` cd,`gc c,`gg f``,ge` `,`^a,^dg 
_a �N6�9� ``_,da_ d_,^ee fe,c_d c,`_g _,`a_ dfg,fcc _,^dd,ca^ 
_b O#N�'1� ff,fge _ac,de` ca,fd_ ae,b`b d,_^c bfa,fg^ f^c,fbf 
_c �6��4�� `dd,ade _a,beg _f,efe _a,fec db,e`^ aaa,caf e_^,edc 
_d P��N'26� bea,ae_ `,_df _,`dd b,__b _`d,ab` _d`,gdf ee^,``g 
_e �6$�ัP��4N'�4/5�11� f,f_e `f_ f,bc` `^,`_g ae`,gd^ _a,c^a b`b,`aa 
_f N �%�<%9-�%4�/�ค9%9�5�� ์ ^ a,`d` ac,ggf ag,ag_ c,gc_ dc,ced _c^,_ef 
_g "6คQ�O�ัP��4/5�11�

�1��� 
_^,__a ^ ac,__d a,`fe _cc,a^c `_e `^b,^ae 

`^ �4N'26�2��'6 ab,a_f ^ e,f_c d,_d` _,d^d ^ bg,g^_ 
`_ "6คQ�O�ัP��4/5�11�

�1�'N6� 
_d,``_ ^ cg^ `,`^a _,dga ^ `^,e^d 

`` "6คQ�O�ัP��4/5��� g,c__ ^ b,gad b,fda `b,c`f ^ ba,fag 
%/#�1Q�ห#� ag,``g,bae a,`g_,_bd cd^,dbd e^e,dd^ _,c`d,edf f,bd_,b^g ca,eee,^de 
%/#�1Q�ห#� ba,eff,fg^ g,gff,_ee ca,eee,^de 

�9P#6: �%#2N�N2%8#�6%N�1�% `cd` 

 



`b 

2"2 �2%N 20�'9�Q��ั��8�1� 
�'�6%/8Nค%64/์�O1#=' ;Q��9PN 64�'=� �?  .0. `ccf - `cda  ;�N0%1��8�/'5��9P#9 ;Q��9PN 64�'=�  

#6��9P2<� ค;1 �O6/  ;Q��9PN 64�'=�N�'9P$ dg.e 'O6�R%N�N1�? �:Q��5��%8#6��Q7�O��<��9P#9 %1�'�#6 ค;1 $6� 6%6   
#9 ; Q��9 P N 64�'=�N�'9 P$ `a .f 'O6�R%N #9O�/P�O# ; Q��9 P N 64�'=�'�'� 1O1$#9 ; Q��9 P N 64�'=�'7�5� a  
N�'9P$ _^.d 'O6�R%N #5�27�4/'5�#9 ;Q��9PN 64�'=�'7�5� b N�'9P$ g._ 'O6�R%N R#O�'#9 ;Q��9PN 64�'=�'7�5��9P c 
N�'9P$ d.` 'O6�R%N #9O�/P�O# ;Q��9PN 64�'=�N 8P#�:Q� �6'์#�Q7#5�#9 ;Q��9PN 64�'=�'7�5� d N�'9P$ c.` 'O6�R%N  
#9O�/P�O# ;Q��9PN 64�'=�N 8P#�:Q� �O6/P �#9 ;Q��9PN 64�'=�'7�5� e N�'9P$ b._ 'O6�R%N  ;Q��9PN 64�'=�#9O�/P�O#
N 8P#�:Q� R#O$;��O�#9 ;Q��9PN 64�'=�'7�5� f คN1��O6�ค��9P N�'9P$ a.f 'O6�R%N  ;��5�#9 ;Q��9PN 64�'=�'7�5� g N�'9P$ 
`.e 'O6�R%N #9O�/P�O# ;Q��9PN 64�'=�'�'�  ;�R%N#9 ;Q��9PN 64�'=�'7�5� _^ N�'9P$ `._ 'O6�R%N O'425��4%� 

#9 ;Q��9PN 64�'=�'7�5� __ N�'9P$ ^.c 'O6�R%N  
�6%�'=��O6/#9�6%Q�O�Q7#6��9P2<� 2"6 �6%�'=�#9ค/6#O���N6��5�R��6#2"6 �1�%4���8N/0        

Q�O�N'4"6ค�:Q�1$=N�5�%4���'�%4�6�N�O�27ค5� �'N6/ค;1 /6� ;Q��9PQ�#9%4���'�%4�6��9PR#N2#�=%�์ 
N�N� Q�"6คN/�;1�4/5�11�N�9$�N/�;1 O'4"6คQ�O N�1�%�%�426#6%��'=��O6/R�O�?'4 _ - ̀  ค%5Q� ค;1 ค%5Q��9P _ �6�? 
O'4ค%5Q��9P ` �6�%5� P�$1605$�Q7�� 2N/� ;Q��9P�9P#9%4���'�%4�6��9P2#�=%�์ N�N� Q�N��"6ค�'6� "6คN/�;1
�1�'N6� N�1�%�%�4�'=��O6/R�O�?'4 ` - a ค%5Q� P�$N�1�%�%�4�7�6�'=��O6/�N1N�;P1��5��9/'5��6�N�O�N�9P$/
�O6/ค%5Q��9P�N6�#6 �7Q/O#9�6%�7�6R�O�:��?'4 a ค%5Q� /%;1 c ค%5Q�Q� ` �? �7Q/Oค/6#�O1��6%�Q72=�#6��:Q� 
25�2N/��6%Q�O�Q7N ;P1�6%�'=��O6/Q� ;Q��9P�'�%4�6�ค8�N�O�%O1$'4 ba1 �1� ;Q��9P�'=��O6/�5Q��%4N�0 

ค/2#�Oอ��2%Q�O�Q3 
Q� ;Q��9PN�1�%�9P1$=NQ�'O�5�O/'N��Q7 �4#9�6%�'=� ;�Q�&�=O'O� P�$N� 64 ;Q��9PN�1�%�'�%4�6�  

�7Q/O#9�6%Q�O�Q7N ;P1�6%N�1�%N�O��%8#6�#6� P�$#9�6%�5�O�%�:Q��5��%8#6���O'4�%8#6��Q7�O��<�Q�O�N'4�? 
�1��6��9Q �6%N 8P#�:Q��1��%4�6�% �6%�$6$�5/�1� ;Q��9P�<#��N#;1� O'4�6% 5��6 ;Q��9P1<�26/�%%#  

O'4 ;Q��9PN0%1��8� �7Q/Oค/6#�O1��6%Q�O�Q7"6ค1<�26/�%%#O'4"6ค�%8�6%N 8P#�:Q��O/$ �:�O#O/N6Q��N/��? 
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O'4�%4�6$%6$R�O2=N�<#�� �7R�2=N�6%'�ค/6#N/';P1#'Q7 O'4N2%8#2%O6��<#��Q/ON�O#O�O� P�$�6%�'8��9PN�O�#8�%
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c) ค/2##1P�ค��O2�อ2ห2% �%4N�0R�$N�O��=O�'8�16/6%15��5��O� N �1�P'� �:�#9ค/6# 1N 9$�
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b` 

d)  '1��2� ค/6#�O1��6% '5��6�ค6�/N6�4N 8P#�:Q��6#"6/4N0%1��8��1��%4N�0�9PN%8P#!AQ��5/O'4
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_.` �6%�6�Oค'��Q7 O'4�%8#6��Q7�O��<�R#NN 9$� 1#9ค/6#
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�5��6�6%2N/�/�O6Q��%�9 6$<�9P#9O�/P�O#�N1Q/ON�8�ค/6#
N29$/6$2=�  5��6%4�� $6�%�์N�;1�"5$Q/O#9�%428��8"6  
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`. �6%$O6$�8P��1�O%��6��6�
2�6��6%�์Pค/8�-_g O'4�6%
�4'1�5/�1�N0%1��8� 

.̀_ O%��6�#9�5�14�O6��8�8�5'O'4O%��6��6��5�14$O6$�'5��8P�
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_^. O���6�'��6%2=�N29$�Q7Q�%4���N12N��N6$�Q7�%4�6 �6%�%4�6�ค%/'/�O'4�6%�%4�6
2N/�"=#8"6คN�O�/�N/$��8�5�8/'5� �7N�8��6%'��6%�Q72=�N29$�6#N�O6/#6$ 

__. �6%�%4/$5��Q7"6คค%5/N%;1�O'4�%8�6% Q�%4$4O%��4�7N�8��6%Q�N��%5��8��1��1��6%
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�%8�6% "6ค%6��6% N�%9$�N�9$��5��O1#='%4�5�26�' #9N�O6/#6$Q/O15�%6�6%Q�O�Q7�N1ค�'�'�/%;1N/#642#
�5��8��%%#�1� ;Q��9P�5Q� N 

�O2��5P ` �2%2%O2�ค/2##1P�ค��อ��Q3"2ค�2%�'4� 
_. �6%�5��7O��Q�2N/��1�1�ค์�%��ค%1�2N/��O1��8P�  

_._ Q/O1�ค์�6%�%8/6%2N/��5�//5�N�O�N�O6"6 Q��=%�6�6%�6%/6�O�� P�$27�5��6��%5 $6�%�Q7
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P�$�7N�8��6%%6$�5�//5� 



f_ 

_.` O�/�6��6%�5�2%%���%4#6� �ั��<�5��%4#6� b,^^^ 'O6��6� ค/%�4N 8P#N�O� _^,^^^ 
'O6��6� P�$�6%�5�2%%�%4�6$N�O�%6$�5�//5� �6#2"6 �ั�/6 

_.a ค/%#9�6%�5����%4#6�N ;P1�6%�7%<�%5�16 �7N���์���%4#6�R� %O1#�5�ค=N#;1�7%<�%5�16 
`. �5Q��1��6%�7N�8��6��5�O�� 

`._ 27�5��6��%5 $6�%�Q7O/N��6�8/8Nค%64/์Pค%��6%�5�/#/�/#=N �6� Thai Water Plan O��/'5� 
O�� SEA /%;11;P� N �7Pค%��6%�5Q�/#�R�ค5��%1�Pค%��6%N�;Q1��O� N ;P1�7%6$�;P12N�Q/O1�ค์�%��ค%1�    
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`.` 27/%5�Pค%��6%�9P#9�ั�/6 Q/O1�ค์�6%�%8/6%2N/��5�//5� %N/#�5�27�5��6��%5 $6�%�Q7
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Pค%��6%�9P1�ค์�%��ค%1�2N/��O1��8P�R#N %O1#/%;1N�8�05�$"6  /%;1/N6�O6��9P�%:�1627%/�11�O�� 

`.a 2%<�O���6#�%1�/�N�8�%6$�5�//5� N ;P1Q�ON�O�O�� 5��6Pค%��6% c �? 
`.b �7Pค%��6%�9P�N6��6%ค5��%1�O'4N�%9$#ค/6# %O1#O'O/N�O6 Thai Water Plan (N� 64O��

�9P�7N�8��6%R�O O���9PR#N�N6�Q/O�5�11�) N�O61�<�%%#�6%�%5 $6�%�Q7�5�//5� R�ค�4�%%#�6%'< N#�Q7        
N ;P1�1���%4#6� 

a. �6��N6$P1� 
a._ �6��9P1$=N%4//N6��N6$P1� 

- �1��%8/6%�5��6%'<N#�Q7 27�5��6��%5 $6�%�Q7O/N��6�8 �5��7�6��O1#='Pค%��6%�9P�4�O1�
�N6$P1�O'4�9P�O1��N1#O�#�N1��N6$P1� N2�1ค�4�%%#�6%�%5 $6�%�Q7O/N��6�8 P�$Q/O/�N/$�6�
�7N�8��6%Q/OO'O/N2%O�"6$Q��?  .0. `ce^ P�$O$�Pค%��6%N�O� ` �%�9 

�%�9�9P _ �N1#N'O��O1$Q/O#='�8�8�>��1�/'5� %42�5�2�<��7N�8��6% 
�%�9�9P ` �O1��N1#Q/�N Q/O/�N/$�6��7N�8��6%Q/OO'O/N2%O�"6$Q��? `ce^ 

a.` �6��9P�N6$P1�R�O'O/ 
- 27%/�%6$�;P1O'4�5��7�O1#='Pค%��6%�9P�N6$P1�R�O'O/ (�%#2N�N2%8#�6%��ค%1��O1��8P� 

�7N�8��6%O'O/O�N%6$'4N19$��O1#='$5�R#Nค%��O/�) 
- �7�6%�%4N#8�2"6 Pค%��6% �5��7/'5�N���์O�/�6��6%�%5��%<� O'4�7/�N6$

Pค%��6%�9P/#�2"6 �6%Q�O�6� �%4N#8����%4#6��9PQ�O P�$ค�41�<�%%#�6%�%5 $6�%�Q7�5�//5�O�N��5Q�
ค�4�7�6� 

b. �%#�'�%4�6�N2�1Pค%��6%�7%N1� #9�6%�%4N#8��%428��8"6 Pค%��6% O'4�6%Q�O�Q7�N1R%N 
O'4�7�6�%N/#�5��%#2N�N2%8#�6%N�1�%/27�5��6�N0%1��8��6%N�1�%/�%#�6%�O6/ �%4N#8��'�'8��N1R%N 
%6$R�O�N1ค%5/N%;1� �N1�#9Pค%��6% 

c. �%#�'�%4�6��%5��%<�%4���'�%4�6� O'4�5�%4���Q7N ; P1�6%N�1�% �%#2N�N2%8#
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�O6��6%�'6� 

d. �%#�'�%4�6�%N/#�5��%#2N�N2%8#�6%N�1�%/27�5��6�N0%1��8��6%N�1�%/�%#�6%�O6/ 
�%4N#8��%428��8"6 Pค%��6% �6%Q�O�Q7�N1R%N �'�'8��N1R%N O'4%6$R�O�N1ค%5/N%;1�/'5�#9Pค%��6% 

e. �%#�'�%4�6��%4N#8�%6$R�O�5Q�/#��1�Pค%��6%�N1�%8#6��6%Q�O�Q7 �N1�O'4/'5�#9Pค%��6% 
Q/OO'O/N2%O�"6$Q��?  .0. `ce^ N ;P10:�16O�/P�O#�9P2N��'Q/O�'8�"6 �6%Q�O�Q7N 8P#�:Q� 
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f. �6%�5�/6�Q7Q� ;Q��9P N�1�%�Q7��#9/�N/$�6�%5��8��1��9P�5�N��Q/Oค%1�ค'<#�<� ;Q��9 P   
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- 27�5��6��6%��8%=��9P�8�N ;P1N�1�%�%%#%5��8��1� ;Q��9P 2.�.�. O'4 ;Q��9P�9Pค�4�%%#�6%�P$�6$
�9P�8�O/N��6�8 (ค��.) $:�ค;� P�$�7/�� ;Q��9 P�9 P�4�7N�8��6%N1� O'4 ;Q��9 P�9 PQ/O/�N/$�6�1; P�N�O6%N/#
�7N�8��6%  

- �%# 5��6�9P�8� �5��7%4��1�<%5�1์�8�O'4�Q7Q� ;Q��9PR#N#905�$"6 �6% 5��6O/'N��Q7 O'4 ;Q��9P
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g. �6%�%5�Pค%�2%O6��6%N�1�%#9�6%�7N�8��6%Q�N���'�%4�6� N�;P1��6�#9ค/6##5P�ค��1��Q7
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_`. �6%�5�/6�Q7N ;P12�5�2�<� ;Q��9P %4N�9$�N0%1��8�"6ค�4/5�11� (EEC)  ;Q��9PN0%1��8� 8N01 
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Q�1�6ค�  

_a. N%N�%5��6%N�%9$#ค/6# %O1#Pค%��6%�5��Q7P��%4$4�9P _ #6$5� ;Q��9P"6ค�4/5�11�N�9$�N/�;1 
N ;P12�5�2�<��6%N�1�%�9P�'�'8�O'4%6$R�O�P7N�;P1��6��6�Oค'��Q7 O'4%1�%5��6% 5��6�O6�N0%1��8�  
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N�O��7N�8��6%Q� ;Q��9P�<#�� O'4#9�6%11�O���9PN�O�#8�%�5�28P�O/�'O1# 
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P�$�%#�'�%4�6� 

b. �7N�8��6%Pค%��6%�%%N�61<��"5$Q� ;Q��9P/8�&�8%4�5�'<N#�Q7��6�Q/�N�9P�5��7O��/'5�O'O/N2%O� 
N�N� '< N#�Q7N�O6 %4$6 �N6�9��1�'N6� $#-�N6��1�'N6� �6��4�� �4N'26�2��'6 O'4�9#='�1�'N6� 
27�5��6��%5 $6�%�Q7O/N��6�8�7N�8��6%�%426�/�N/$�6���8�5�8N%N�%5��6%N�%9$#ค/6# %O1#Q/O26#6%� 

N%N��7N�8��6%Pค%��6%27ค5�R�OP�$N%O/ #9�6%�7%=�O���6%O�OR��ั�/6�Q7�N/#�9P1605$�%%#�6�8N�O� ;Q��6� 
(nature-based solution) #6�%4$<��์Q�O 
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d. �6%�%5��%<�N�;P1�Q�ค/6#%5��8��1��1��%#�'�%4�6� O'4�6%R!!O6�N6$�'8�O/N��%4N�0R�$
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�O2��5P b �2%อ�8%1�1์O'0!?้�!9%0���4N/0�%1 $2�%�Q3 
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`. �%# 5��6�9P�8�%N/#�5�1�ค์�%��ค%1�2N/��O1��8P�O'4�<#��Q� ;Q��9P�7/��O�/�6��6% 5��6

N ;P1'��6%�4'O6� 5��'6$�1��8� 
a. �%# 5��6�9P�8�/6�O��11�O��O'4�%4#6�%6ค6 N2�1Pค%��6%�N6� Thai Water Plan 
b. �7N�8��6%�N12%O6�O'4�8��6#�%4N#8��'�6%'��6%�4'O6� 5��'6$�1��8� 
c. 27�5��6��%5 $6�%�Q7O/N��6�8�%426��%4�%/�#/6�R�$11��P$�6$�6%N�O�คN6�7�5��Q7N29$�<#�� 
d. 1�ค์�%��ค%1�2N/��O1��8P�27%/�%4���7�5��Q7N29$�ั��<�5� N2�1O���%5��%<�%4���7�5��Q7N29$

O'4�N1%/�%/#�Q7N29$ 
e. N�0�6'N#;1� O'4N�0�6'�ค% �9P#9�<#��/�6O�N�O'4N�O�O/'N��7N�8��Q7N29$ %N/#�5�1�ค์�6%

�5��6%�Q7N29$27%/�O'4/6�O���N12%O6�%4���7�5��Q7N29$Q�%=�O��%/#0=�$์/ค'52N�1%์/%4���7�5�  

� O/'N��7N�8� �6#ค/6#N/#642# 
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f. �6%N�%9$#ค/6# %O1#P�$1�ค์�6%�5��6%�Q7N29$Q/Oค7�%:�16 /%;1 1�ค์�%��ค%1�2N/��O1��8P�
/N6�O6��9P�%:�1611�O�� 

g. �7Pค%��6%�9PN�%9$#ค/6# %O1#O'O/N�O6 Thai Water Plan N�O61�<�%%#�6%�%5 $6�%�Q7�5�//5� 
R�ค�4�%%#�6%'<N#�Q7 N ;P1�1���%4#6� 

_^. 1�ค์�%��ค%1�2N/��O1��8P�11��O1�5��5�8O'4�7N�8��6%N�O�คN6�7�5��Q7N29$�<#�� 
__. �%#�%5 $6�%�Q7�5��7O��/'5��6%1�<%5�1์O'4!AQ�!=O#N�Q7'7ค'1�O'4O/'N��Q7�%%#�6�8  

�5P/�%4N�0 
_`. �5��7�5/�9Q/5� River Health Index "6$Q� ` �? 
_a. �5��7�6��O1#=''7�Q7 O'4O/'N��Q7�5P/�%4N�0  %O1#2�6��6%�์�ั��<�5� "6$Q� ` �? 
_b. �7/��N�O6/#6$'7�Q7/O/'N��Q7N ;P11�<%5�1์!AQ�!="6$Q� ` �? 
_c. �6%1�<%5�1์!AQ�!=�N6�O��Q7#1�Q/O�%#�N6R#O �%#1<�$6�O/N��6�8 25�/์�N6 O'4 5��<์ ;� �%4�%/�

�%5 $6�%�%%#�6�8O'428P�O/�'O1#N�O�/�N/$�6��%426�O'4�5�Nค';P1�P�$�7N�8��6%ค/�ค=N�5�R� N%8P#�6�
�7/���1�N���6%Q�O�%4P$��์ N�O�N��1�<%5�1์ N���N6R#O�5��� O'4�6%Q�O�%4P$��์�9P�8��9PN/#642#Q� ;Q��9P
'<N#�Q7�5Q� _ O'4 ` �9PR�O%5��6%�N1��5��6##�8ค�4%5�#��%9 a^ #8�<�6$� `cb_ P�$�6%�5��7O��!AQ�!= 
%6$'<N#�Q7�6#'7�5�ค/6#%<�O%��1��ั�/6 

_d. �6%'��6%�4'O6� 5��'6$�1��8�Q� ;Q��9P�O��Q7#1�Q/O�%#�N6R#O �%#1<�$6�O/N��6�8 25�/์�N6 O'4
 5��<์ ;� �%4�%/��%5 $6�%�%%#�6�8O'428P�O/�'O1# P�$�5��7�6$N 8P#ค/6#�<N#�;Q�Q�N��1�<%5�1์ N���N6R#O 
�9P#9ค/6#'6��5�  

_e. �6%�5��7O��/'5��6%�5��6%�Q7N29$Q� ;Q��9P N� 64 N�N� O#N�Q7�N6�9� O#N�Q7O#N�'1�   
O#N�Q7N� O6 %4$6 O#N�Q7�6��4�� #9N�O6/#6$�6%�5��7Pค%��6%�7%N1��6%�7�Q7N2 9$�'5�#6Q� OQ/#N  
P�$�%#ค/�ค<##' 81 �%4�%/��%5 $6�%�%%#�6�8O'428P�O/�'O1# 

_f. �6%�5�2%%�Q7N ; P1%5�16%4���8N/0 #1�Q/O�%#�'�%4�6� �%4�%/�N�1�%O'42/�%�์  

N�O�/�N/$�6�/'5� 27/%5�'7�Q7�9P#9O/'N��Q7�O��<��6��O6�N/�;1�Q7%4�6$�Q7N ;P1%5�16%4���8N/0�N/�/�O6O'O� 
O'4ค/�ค<#ค/6#NคO#�O6��O6$�Q7 �6%�5��7O��/'5��6%�O1��5��Q7NคO#/�6%�5�N�64�6�O#N�Q7Q� ;Q��9PN� 64 
ห#2$Nห�8:  ;Q��9P�N6N0%1��8�N ;P1�6%Q�O�%4P$��์ �6%ค/�ค<#�6%%4�6$�Q7�8Q� �6%ค/�ค<#�6%Q�O�Q7/'��6%
�7�Q7�8Q��6��6%Q�O�Q7�6�O/'N��7N�8��5Q�"6ค�6%N�1�% "6ค1<�26/�%%# O'4"6คค%5/N%;1� #9�6%�7/��
N�O6/#6$O'4�5/�9Q/5�"6$Q�OO��O#N��"6$Q�O$<��062�%์�6�8�%4N�O��9P _f �6%N�8�P�1$N6�$5P�$;�  
 

�O2��5P c �2%�%4ห2%�1��2% 
27�5��6��%5 $6�%�Q7O/N��6�8 1�ค์�6%�%8/6%2N/��5�//5� %N/#�5�/�N/$�6��9PN�9P$/�O1� �@�1�%#

1�ค์�%��ค%1�2N/��O1��8P� P�$#9O�/�6�N�O��6%%N/#�5��6%�5��7O���6%�5��6%�Q7�<#��Q� ;Q��9P��N1� 
#9�5Q��1��5��9Q 

_. �6% 8�6%�6/6�Pค%��6%�9PN/#642# P�$Q�O ;Q��9P�<#��Q�1�ค์�%��ค%1�2N/��O1��8P�N�O�O�/�6� 
`. �6%/6�O���=%�6�6%/�6%�7/���%4N�O� O�/�6� N�O6/#6$ �5/�9Q/5� 
a. �6%�O6�N ;P127%/�/11�O�� �N12%O6� ค<#�6� 
b. �6%�7%<�%5�16 �6%�%4N#8��' 
c. �6%�%8/6%�5��6%Pค%��6% 



fc 

P�$Q��?  .0. `cde �7N�8��6%Q� c �5�//5��7%N1� R�OO�N 2��'6 N �%�<%9 N�9$�Q/#N #/626%ค6# 
O'42�'�ค% 

d. �6%�5��71�<�5��5�8 �%5��%<� %4N�9$� �O1�5�ค5��9PN�9P$/ %4%6��5��5�8�%5 $6�%�Q7 27�5��6�
�%5 $6�%�Q7O/N��6�8N�O�/�N/$�6�/'5�Q��6%�7N�8��6%O'4�%426��6�Q��6%�5�Nค';P1��6%�%8/6%�5��6%
�%5 $6�%�Q7Q�%4�5��%4N�0O'4'<N#�Q7 %/#�5Q� 5��6�'R�ค/6#%N/##;1%4//N6��%4N�0�O6��%5 $6�%�Q7 

e. O��O#N���6%�%8/6%�5��6%�%5 $6�%�Q7 `^ �? 27�5��6��%5 $6�%�Q7O/N��6�8�7N�8��6%�5��7
O'4�N6$�1�N�O6/#6$'�2= N�6%�7N�8��6�%4�5�'< N#�Q7O'4O����8�5�8�6% %/#�:��8��6# �%4N#8��'  

�6%�7N�8��6��1�O���6��6#�P$�6$O'4O��O#N��N�9P$/�5��6%�%8/6%�5��6%�Q7N2�1�N1ค�4�%%#�6%
�%5 $6�%�Q7O/N��6�8P�$#9�'<N#�=OQ�O�Q7�7/�O6�9P�5�Nค';P1��6%�7N�8��6�"6$Q�Oค�4�%%#�6%'<N#�Q7 

f. �6%N2%8#2%O6�05�$"6 ค�4�%%#�6%'<N#�Q7 1�ค์�%�=OQ�O�Q7 1�ค์�%��ค%1�2N/��O1��8P� 27�5��6�
�%5 $6�%�Q7O/N��6�8%N/#�5�/�N/$�6��9PN�9P$/�O1� 5��6/'5�2=�%�9PN/#642# �N6$�1�ค/6#%=O O'�N�'9P$�
�%42��6%�์�6%�%8/6%�5��6%�Q7N ;P1�5�Nค';P1��6%�7N�8��6�Q�%4�5� ;Q��9P�1�O���6��N6� N  

g. �6%0:�16 /8�5$ O'4 5��6$�%4�5��6%�%8/6%�5��6%�%5 $6�%�Q7O'4�%5 $6�%#�<1$์ 
27�5��6��%5 $6�%�Q7O/N��6�8%N/#�5�/�N/$�6��9PN�9P$/�O1� 5��6%4���6��O1#='�9P�7N�O� �5��7#6�%�6�
�6%O'�N�'9P$��O1#='�O6��%5 $6�%�Q7 �7N�คP�P'$9O'4�/5��%%#�9PR�O�7#6�%4$<��์Q�O�5�Nค';P1��6%�%8/6%
�5��6%�Q7�1��%4N�0�N6$�1�2=N%4�5�'<N#�Q7 N�$O %NO'4$�%4�5��6�/8�5$2=N%4�5�26�'�N6�N/�9�%4�<#
/8�6�6%�6�6�6�8 

_^. �6%�5��7�5��Q7Q��5��<#�� �5�N#;1� O'4�5�%4�5�'<N#�Q7 N ;P1�5��6%�Q7�5Q�%4��O'4ค%�/��%  
P�$27�5��6��%5 $6�%�Q7O/N��6�8�7N�8��6%�5��7�5�%4�5�'<N#�Q7 �%4�%/�#/6�R�$ (�%#P$�6�8�6%O'4�5�N#;1�) 
�7N�8��6%Q/O#9�5��Q7Q�N#;1�/'5��9P#9ค/6#27ค5��6�N0%1��8�O'4ค/6#/�6O�N�2=� N�N� N�9$�Q/#N  81�<P'� 
1<�%�6�9 �1�O�N� O'4/6�Q/�N N�O��O� �'5��5�Q/O#9�6%�%4�60Q�OO'4�7R�2=N�6%��8�5�8 

__. N�%9$#ค/6# %O1#27/%5�O���6�Q/#N 27�5��6��%5 $6�%�Q7O/N��6�8%N/#�5�/�N/$�6�  

�9PN�9P$/�O1�0:�16O/'N��Q7�6�N';1� �5��7O��/'5�N ;P1N�O�O�/�6��6%�7N�8��6�O'4�7R�2=N�6%��8�5�8 
_`.  �6%�%4�625# 5��์N ;P12;P126% O'4�N6$�1��O1#=' 1�ค์ค/6#%=O 2�6��6%�์�Q7�9PN�O6Q��N6$  

2=N26�6%�4 #9�6%N�>�N�$�O1#='�O6��%5 $6�%�Q7N ;P1�N1$1��6% 5��6�%4N�0�O6�1;P� N �5�Nค';P1�N0%1��8�
�9 P#9#='คN62=�O'4N�O�#8�%�5�28 P�O/�'O1# 27�5��6��%5 $6�%�Q7O/N��6�8 �7N�8��6%%N/#�5�/�N/$�6� 

�9PN�9P$/�O1� 
 

�2%�N2$�อ�O��O#N���2%�%4ห2%�1��2%�%1 $2�%�Q3%0�1��2�4'�29NO��O#N��/O����4�1�4�2%
%0�1�'8N#�Q3 
 %5��%%#�=�O/N�%6�16�6�5�%R�$#6�%6 dc �7/��Q/O%5� :��5�Q/O#9$<��062�%์�6�8N�O�N�O6/#6$ 

�6% 5��6�%4N�01$N6�$5P�$;��6#/'5��%%#6"8�6'N ;P1Q�ON�O��%1�Q��6%�5��7O���N6� N Q/O21�ค'O1�  

O'4�=%�6�6%�5� P�$�7/��$<��062�%์�6�8 `^ �?  .0 `cd_ - `cf^ ��5��%5��%<� R/O�5Q�/#� c �O6�  
�:P��O6��9PN�9P$/�O1��5��6%�%8/6%�5��6%�%5 $6�%�Q7 ค;1 �O6��9P c $<��062�%์�6�8�O6��6%2%O6��6%N�8�P���
ค<�"6 �9/8��9PN�O�#8�%�5�28P�O/�'O1# �%4�1��O/$O�/�6��6% 5��6 d �O6� #9�O6��9PN�9P$/�O1� R�OO�N 
 _)  �6%2%O6��6%N�8�P�1$N6�$5P�$;���25�ค#N0%1��8�29N�9$/ 
  _._ 1�<%5�1์O'4!AQ�!=O#N�Q7'7ค'1�Q/Oค%1�ค'<#O#N�Q7'7ค'1��5P/�%4N�0 



fd 

`)   5��6ค/6##5P�ค��6��Q7  '5��6� O'4N�1�%�9PN�O�#8�%�N128P�O/�'O1#�9PN�9P$/�O1� ค;1 
   `._ #9�6% 5��6 �5��6%�Q7N�8�'<N#�Q7�5Q�%4�� N ;P1N 8P#ค/6##5P�ค��O6��Q7�1��%4N�0 
   `.` N 8 P#�'8�"6 �1��Q7�5 Q�%4��Q��6%Q�O�Q71$N6��%4/$5� %= Oค<�คN6 O'42%O6�#='คN6N 8P# 

�6��6%Q�O�Q7Q/O�5�N�9$#%4�5�26�' 
  "6$Q�O$<��062�%์�6�8 ̀ ^ �? R�O�7/��O��O#N��"6$Q�O$<��062�%์�6�8R/O�5Q�/#��7�/� ̀ a �%4N�O�
O��O#N���9PN�9P$/�O1��5��6%�%8/6%�5��6%�%5 $6�%�Q7 ค;1 �O6��9P _g �%4N�O��6%�%8/6%�5��6%�Q7�5Q�%4�� 
 .0 `cd_ - `cf^ P�$�7/��O�/�6��6% 5��6R/O a O��$N1$ ค;1 
  _) O��$N1$  5��6�6%�5��6%�Q7N�8�'<N#�Q7�5Q�%4��N ;P1N 8P#ค/6##5P�ค��O6��Q7�1��%4N�0 
  `) O��$N1$ N 8P#�'8�"6 �1��Q7�5Q�%4�� Q��6%Q�O�Q71$N6��%4/$5� %=Oค<�คN6 O'42%O6�#='คN6N 8P#
�6��6%Q�O�Q7Q/O�5�N�9$#�5�%4�5�26�' 
  a) O��$N1$ 1�<%5�1์O'4!AQ�!=O#N�Q7'7ค'1�O'4O/'N��Q7�%%#�6�8�5P/�%4N�0 
 O��O#N���6%�%8/6%�5��6%�%5 $6�%�Q7 `^ �? ( .0. `cd_ - `cf^) #9ค/6#21�ค'O1��5�
$<��062�%์�6�8 `^ �?  .0. `cd_ - `cf^ O'4O��O#N��"6$Q�O$<��062�%์�6�8 27/%5��6%�5�Nค';P1� 

O��O#N���6%�%8/6%�5��6%�%5 $6�%�Q7 `^ �? 2=N�6%��8�5�8 (�2#%9��5P 4-_)  2%<�R�O�5��9Q  
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%9��5P 4- 1 �5�O2���6%�5�Nค';P1�O��O#N���6%�%8/6%�5��6%�%5 $6�%�Q7 `^ �? 

1A'#5P _-_ (1�O. ��21�1&Nค3?Pอ%O(%O/N&#�21&14ห21�1 �21#11พ02�1%Q3 `^ 'ี 

1�? NคลืNอ�O"�O/่ ท�@1 1>ห@1จ?ด�@1ท1?พ0@�1� O@ `^ !?
e. ค�011�/�!15 

_. O"�O/N ท�Q3 `^ !ี 

- `๘ �30@#$์ _^ O(%�2% 

- .%1&.%@%N'้2ห/20/O(%O/N&# 

  .20Q!O0@#$02.!1์ช2!4 
  

d. ค�0ก11/ก21 
ท11พ02ก1�Q3OหN�ช2!4 

    - O(%O/N&#%Q3 `^ 'ี 

     - O(%O/N&#3@N/%Q3 

     - O(%&A1�2
�21�&'10/2� 

.#%ช. O30ห%N/0�2%
!2/.21�4�O(%O/N&#/ 

�%ช. P 0อ%@�11/�21
0@#$02.!1์�21&14ห21
�1 �21#11พ02�1%Q3 
(.#%ช. N3�2/) 

c. ค�0ก11/ก21ล@N/�Q3 
      - O(%O/N&#3@N/%Q3 
      - O(%&A1�2
�21�&'10/2� 

        '10�3' ี

`. O"�!�4 1!4!2/.21ก4� (Functions) 
- O(%'ฏ4&1!4�21!2/.21�4�O(%O/N&# 

- O(%O/N&#120พ?Q%#5P/4�2!/Pค1��21
.3ค1ญ 

ค�0�11/�213@N/%Q3 
P 0N3�2%@�21 
ค�0�11/�213@N/%Q3/
ห%N/0�2%/�1�ห/1 /อ'#./
(AO/5.N/%R O.N/%N.50  

N3�2%@�21 
ค�0�11/�213@N/%Q3 

�1 #3 

"N20#อ �30@#$์/O(%�2%3�.AN 
O(%'ฏ4&1!4O30O(%O/N&#120พ?Q%#5P 

N.%อ 

�%ช. NหO%ชอ& 

.#%ช./4Nค120ห์/�3ห% 
'10N O%O30N'้2ห/20

N&?Qอ�!O%

/4Nค120ห์ค/2/Nช?Pอ/P0��1&O(%�3@N/�1�ห/1 / 

�1�ห/1 /#Oอ�"4P% O30."2%�21�์�อ�พ?Q%#5P 

/4Nค120ห์/�1 33 1&
ค/2/.3ค1ญO(%O/N&#3@N/

%Q3 

�1 #3 N.%อ �%ช.  
NหO%ชอ& 

N.%อ ค1/. 
(O(%O/N&#%Q3 `^ 'ี O30 

O(%&A1�2�21�&'10/2�'10�3'ี) 

ค1/.
NหO%ชอ& 

N.%อค�0�11/�213@N/%Q3 
NหO%ชอ& 

�1 #3 

�1 #3 

f. ก10ท1/�N�O2.1�ก1  

g. .3�1ก� !10/2� 

ค�0�11/�213@N/%Q3 
NหO%ชอ& 

a. O"�O/N ทล@N/�Q3  
- O(%'ฏ4&1!4�21!2/.21�4��อ�ห%N/0�2% 

 (.0#Oอ%N'้2ห/20O(%O/N&#1203@N/%Q3) 
- O(%'ฏ4&1!4�2110 1&พ?Q%#5P   
(.0#Oอ%N'้2ห/20ค/2/!Oอ��21�อ�พ?Q%#5P  
�3@N/�1�ห/1  �1�ห/1  อ'#. #Oอ�"4P%) 

b.O"�!�4 1!4ก21!10�3!ี 



ff 

_. ค�4�%%#�6%�%5 $6�%�Q7O/N��6�8 (���.) P�$27�5��6��%5 $6�%�Q7O/N��6�8 (2���.) �5��7
O��O#N���6%�%8/6%�5��6%�%5 $6�%�Q7 `^ �? (�%5��%<��N/��9P _  .0. `cdd - `cf^) (#6�%6�9P _e  
�O1 (_)  %4%6��5��5�8�%5 $6�%�Q7  .0. `cd_) Q/O#9ค/6#21�ค'O1�O'42�5�2�<�N�O6/#6$O��O#N��
"6$Q�O$<��062�%์ `^ �?  .0. `cd_ - `cf^ P�$O��O#N���5��'N6/ �%4�1��O/$ `b �'$<��์ da O���6� 
 `. 27�5��6��%5 $6�%�Q7O/N��6�8 (2���.) O'4/�N/$�6��N6$�1�N�O6/#6$O'4�'$<��์O��O#N��
�6%�%8/6%�5��6%�%5 $6�%�Q7 `^ �? ( .0. `cd_ - `cf^) R�2=N�6%�5��7O��O#N��'<N#�Q7 P�$ 8�6%�6
O��%4�5� ;Q��9P�6#"6%�8��1�/�N/$�6�"6$Q�OO��O#N��3 `^ �? O'4O��O#N��%6$ ;Q��9P/8�&�8 (Area based) 
Pค%��6%27ค5� (Project based) �7O��%6$'< N#�Q7 N ;P1Q�ON�O��O1#='Q/O�5�ค�4�%%#�6%'<N#�Q7Q�O 8�6%�6 

Q��6%�5��7O��O#N��'<N#�Q7 
a. ค�4�%%#�6%'<N#�Q7 (P�$N'�6�<�6%'<N#�Q7//�N/$�6�/�5�//5�/�=O#92N/�R�ON29$) �7/�O6�9P/8Nค%64/์

�O1#='O��%0�1� 7Q��5P�2#"2%�4� (O��%4�5� ;Q��9P�6#"6%�8��1�/�N/$�6�"6$Q�OO��O#N��3 `^ �?  
O'4O��O#N��%6$ ;Q��9P/8�&�8 (Area based) /Pค%��6%27ค5� (Project based)) N�;P1#P$��5�ค/6#�O1��6%
Q��6% 5��6�1� ;Q��9 P�6�O��%0�1� 7 Q��5P (O��%4�5� ; Q��9 P�1��'< N#�5�//5� �5�//5� 1��. �O1��8 P�) 
2�6��6%�์�1� ;Q��9P'<N#�Q7 O��/'5��6% 5��6Pค%��6%Q�'<N#�Q7 O'4/8Nค%64/์�6�N';1��6%�%8/6%�5��6%�Q7
�1�' < N#� Q7P�$Q� O�%4�/��6%�%4N#8�2 8 P�O/�'O1#%4� 5�$ <��062�%์ : ( Strategic Environmental 
Assessment (SEA)) N ;P1/8Nค%64/์O'4�5��7O��O#N��'<N#�Q7 O��O#N��3�Q7��5��%5��%<� R�O�7/���%1�
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1��. 

/�N/$�6��9P
#9"6%�8� 

/�O6�9PO'4
17�6��6#
��/#6$ 

`.b �'R� 
�$6$�'27N%O�
�O6��6%�%8/6%
�5��6%�Q7N�8�
 ;Q��9PQ�%4�5�
�<#�� �O1��8P� 
O'4�5�//5� 
(�%4N�O��6%
��8%=� �%4N�0) 

- �7�/� ;Q��9P 
(/#=N�O6�/�5�//5�) 
�9P26#6%�Q�O
�O1#=' N�คP�P'$9
O'426%2�N�0 
Q��6%�%8/6%
�5��6%�%5 $6�%
�Q7R�O�O/$��N1� 
O'426#6%�$6$
�'ค/6#27N%O�R�
$5� ;Q��9P1;P� 

�<#��26#6%��%8/6%�5��6%
�%5 $6�%�Q7Q� ;Q��9PR�O�O/$
��N1� �N6��%4�/��6%#92N/�
%N/#�1��<�"6ค2N/� O'4N�8�
Nค%;1�N6$�6%�%8/6%�5��6%
�%5 $6�%�Q7�<#�� �6#O�/
 %4%6��7%8 �<#��#9ค/6#
N�O�1$=N�9P�9N�8�ค/6#$5P�$;�Q�
�<�#8�8 (d,^^^ /#=N�O6�) 

�7N�8��6%1$N6�
�N1N�;P1� 

N%N��7N�8��6%
N2%8#2%O6��6%

N2%8#ค/6#
N�O#O�O��1�

 ;Q��9P 

N%N��7N�8��6%
N2%8#2%O6��6%

N2%8#ค/6#
N�O#O�O��1�

 ;Q��9P 

N%N��7N�8��6%
N2%8#2%O6��6%

N2%8#ค/6#
N�O#O�O��1�

 ;Q��9P 

N%N��7N�8��6%
N2%8#2%O6��6%
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N�O#O�O��1�
 ;Q��9P/�8��6#
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N%N��7N�8��6%
N2%8#2%O6��6%

N2%8#ค/6#
N�O#O�O��1�
 ;Q��9P/�8��6#

�%5��%<� 

2���./#�./
1��./22�./ 
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  �<#��Nค%;1�N6$�$6$�'�6%
�5��6%�Q7�<#���1�N��
�'�%4�6� _c^ �<#�� 

c^ �<#�� �7N�8��6�
�6#O��  
_^ �<#�� 

�7N�8��6�
�6#O��  
_^ �<#�� 

�7N�8��6�
�6#O�� 
_^ �<#�� 

�7N�8��6��6#
O��  

_^ �<#�� 

�7N�8��6��6#
O��  
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22�./ 
1��. 
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�O2��5P c �2%�%4ห2%�1��2% 
�'$8�� ์ O���2� �1/�5Q/1� N�O2ห#2$ dd-f^ dd-e^ dd de df dg e^ ห�N/$�2�ห'1� 2�1�2�8� 

�O�O���<#��#5P�ค��Q7 O'4
#5P�ค�16/6% cb �<#�� 
(N%8P#�7N�8��6%�5Q�O�N�? `ce_ 
N�O��O�R�) 

- - - - - - 22�./ 
1��. 

/�N/$�6��9P
#9"6%�8� 

/�O6�9PO'4
17�6��6#
��/#6$ 

�O�O���<#��N�1�%15��%8$4 
(smart farming) d^ �<#�� 

18 �<#�� ` �<#�� b �<#�� b �<#�� 4 �<#�� 4 �<#�� 22�./ 
1��. 

/�N/$�6��9P
#9"6%�8� 

/�O6�9PO'4
17�6��6#
��/#6$ 

�5�//5�Q�O�6�0=�$์�Q7%4�5�
�5�//5��%8/6%�5��6%
�%5 $6�%�Q7Q� ;Q��9P 

a^ �5�//5� ` �5�//5� e �5�//5� e �5�//5� e �5�//5� e �5�//5� 22�./2���./ 
1��. 

/�N/$�6��9P
#9"6%�8� 

/�O6�9PO'4
17�6��6#
��/#6$ 

a. �5��7
Nค%;P1�#;1Q��6%
�%8/6%�5��6% 

a._ �6%�5��7
O���%8/6%
�5��6% 
�%5 $6�%�Q7 
a._._ O��
O#N���6%�%8/6%
�5��6%�%5 $6�%
�Q7 %4�5��6�8/
%4�5�'<N#�Q7 
a._.` 
O����8�5�8�6%
O'4O��
���%4#6� 
a._.a O��
�O1��5�O'4
O�OR�"6/4�Q7
O'O�O'4�Q7�N/# 
a._.b O���6%
�5�2%%�Q7 

- #9O���6%�%8/6%
�5��6%�%5 $6�%
�Q7�<�%4�5�N�O�
#6�%�6�
21�ค'O1� 
�5�$<��062�%์�6%
 5��6�1��%4N�0 
- %4�5�ค/6#27N%O�
�1��6%�%5��%<�
O��O#N���6%
�%8/6%�5��6%
�%5 $6�%�Q7 `^ �? 

�6%�5�1�%#Q/Oค/6#%=O�O6��6%
/6�O���6%�5��7O���6%�1
���%4#6� �6%�%8/6%�5��6%
Pค%��6%Q/O$5P�$;� 
(#<N�N�O��%%#�6%'<N#�Q7 "6$Q�O 
 .%.�. �Q7) 

���/�O'4
�%5��%<�O���<� 

c �? 
%/#�:��6%

�5�Nค';P1�Q/O
N�8��'%=��%%#

1$N6� 
�N1N�;P1� 

#9N���์�6%
�5��7O����8�5�8
�6%�9P21�ค'O1�
�5�O��O#N��
O'4�%5��%<�Q/O
24�O1��80�6�
 5��6Q�O�N'4

%4$4 

�5�Nค';P1�Q/O
N�8��'

%=��%%#1$N6� 
�N1N�;P1� 
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N�8��'

%=��%%#1$N6� 
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�5�Nค';P1�Q/O
N�8��'

%=��%%#1$N6� 
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�O2��5P c �2%�%4ห2%�1��2% 
�'$8�� ์ O���2� �1/�5Q/1� N�O2ห#2$ dd-f^ dd-e^ dd de df dg e^ ห�N/$�2�ห'1� 2�1�2�8� 

a.` �8��6#O'4
�%4N#8��'�6%
�7N�8��6� 

- %4�5�
ค/6#27N%O��1� 
�6%�8��6#
�%4N#8��' 
O'4�6%�5��7
�O1N2�1O�4N�8�
�P$�6$ 
- %4�5�ค/6#27N%O�
�1��6%�5�Nค';P1�
N�O6/#6$/�5/�9Q/5�
�1�O��O#N�� 
�6%�%8/6%�5��6%
�%5 $6�%�Q7 ̀  ̂�? 

_. �8��6#�%4N#8��'Pค%��6%
"6$Q�OO��O#N���6%�%8/6%
�5��6%�%5 $6�%�Q7 `^ �? 
`..�8��6#�%4N#8��'"6$Q�O
� %1��6% 5��6� 9 P $ 5 P �$;� 
(SDGs) O��O# N��"6$ Q�O
$<��062�%์�6�8 (O��%4�5� `) 

26#6%�
�%4N#8��'R�OQ�
%4�5� �''5 � ์
�'25#&��8N O'4

�'�%4�� 

�8��6#
�%4N#8��'Q�
%4�5� �''5 � ์

�'25#&��8N 
O'4

�'�%4��
1$N6��N1N�;P1� 

 

�8��6#
�%4N#8��'Q�
%4�5� �''5 � ์

�'25#&��8N 
O'4

�'�%4��
1$N6��N1N�;P1� 

 

�8��6#
�%4N#8��'Q�
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�'25#&��8N 
O'4

�'�%4��
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�8��6#
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�'25#&��8N  
O'4 

�'�%4�� 
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�8��6#
�%4N#8��'Q�
%4�5� �''5 � ์

�'25#&��8N  
O'4 

�'�%4�� 
1$N6��N1N�;P1� 

 

2���./ 
1��. 

/�N/$�6��9P
#9"6%�8� 

/�O6�9PO'4
17�6��6#
��/#6$ 

a.a  5��6%4��
�%/�/5�O'4
�6��O1#='
�%5 $6�%�Q7 
O'4�O1#='�9P
N�9P$/�O1� 

- %O1$'4�7�/��9P
Q�O�6�R�O
�'1�N/'6 
- #9���%4#6�
�7%<�%5�16
N 9$� 1 

�8��5Q�%4��P�%#6�%Q� ;Q��9P
N29P$�"5$�Q7/'6�O'4Q� ;Q��9P
�7N�O��9P$5�R#Nค%1�ค'<# 
- %4��N�;1�"5$�9P'6�N�8�N�6 
- %4���8��6#ค<�"6 �Q7 
- %4���8��6# ;Q��9P1�<%5�1์
O'4!AQ�!= 
- %4���8��6#%4�5��Q7�6�6' 
- %4���%/�/5�%4�5��Q7�:Q�-'� 

�5��7#6�%�6� �5��7
#6�%�6� 

�5��7
#6�%�6� 

�7%<�%5�16Q/O
Q�O�6�R�O

�'1�N/'6 

�7%<�%5�16Q/O
Q�O�6�R�O

�'1�N/'6 

�7%<�%5�16Q/O
Q�O�6�R�O

�'1�N/'6 

2���./22�./
��./��./ค ./
��./��./�%#
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�O2��5P c �2%�%4ห2%�1��2% 
�'$8�� ์ O���2� �1/�5Q/1� N�O2ห#2$ dd-f^ dd-e^ dd de df dg e^ ห�N/$�2�ห'1� 2�1�2�8� 

a.b �6%N 8P#
�%428��8"6 
�%8�6%�O1#='
26%2�N�0
�%5 $6�%�Q7 

- #6�%�6��O1#='
�O6��Q7  
(Thai Water 
Standard) 
- ค/6#�=��O1��1�
�O1#=' 

- ค/6# :� 1Q�
�=OQ�O�%8�6% 

- %4��2�5�2�<��6%�%8/6%
�5��6%�%5 $6�%�Q7�9PR�O%5��6%
 5��6/�%5��%<��%428��8"6  
- #6�%�6��O1#=' f �<� �? 
`cdd -`ce^ 
- %4��Q/O�%8�6%�O1#='O'4
O'�N�'9P$��O1#='�O6��Q7�1�
�%4N�0 (Thai Water 
Platform/Open data)  
_ O '�!1%์# #9�6% 5��6/
�%5��%<��%428��8"6 �N1N�;P1� 
- #90=�$์�O1#='�'6� N�>�N�$ 
ค%1�ค'<#�<��5�//5�N�;P1#�N1
�5�0=�$์�Q7�5�//5� 

`^ %4�� 

 
 

f �<� 
 
 

_ %4�� 

- %4��2�5�2�<�
�6%�%8/6%
�5��6%
�%5 $6�%�Q7�9P
R�O%5��6%
 5��6/
�%5��%<�
�%428��8"6   
4 %4�� 

- #6�%�6��O1#=' 
5 �<� 

-%4��2�5�2�<�
�6%�%8/6%
�5��6%
�%5 $6�%�Q7�9P
R�O%5��6%
 5��6/
�%5��%<�
�%428��8"6   
4 %4�� 
- #6�%�6�
�O1#=' 3 �<� 

-%4��2�5�2�<�
�6%�%8/6%
�5��6%
�%5 $6�%�Q7�9P
R�O%5��6%
 5��6/�%5��%<�
�%428��8"6   
4 %4�� 

 

-%4��2�5�2�<�
�6%�%8/6%
�5��6%�%5 $6�%
�Q7�9PR�O%5��6%
 5��6/�%5��%<�
�%428��8"6   
4 %4�� 
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�6%�%8/6%
�5��6%
�%5 $6�%�Q7�9P
R�O%5��6%
 5��6/
�%5��%<�
�%428��8"6   
4 %4�� 

- %4��Q/O�%8�6%
�O1#='O'4
O'�N�'9P$�
�O1#='�O6��Q7
�1��%4N�0 1 
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a.c �6��O1#='
�%4�6/#=N�O6�
O'4�Q7�;P#
2416� 

- �6��O1#='%4��
�%4�6/#=N�O6�  
- �6��O1#='�=O�Q7
�;P#/Nค%;P1��%1�
�Q7#6�%�6� 
- �7�/� 1��. �9P
�N6��6%�@�1�%# 

- ค�4�7�6��5��6%%4��
�%4�6/#=N�O6��5�//5��7/��
�%1�O�/�6� N ;P1�%4N#8� 
�%4�6 c �O6�  _) �O6�O/'N�
�Q7�8� `) %4���%4�6 a) 
�6%ค/�ค<#�6%�'8�O'4
�7%<�%5�16%4���%4�6 b) 
�%8#6��Q7O%��5��Q7O'4
ค<�"6 �Q7�%4�6 c) �6%
�%8/6%�8��6%%4���%4�6 
- 27%/��O1#='%4���%4�6
�ั��<�5� 16$< �7'5��'8� O/'N�
�Q7�8� ค%5/N%;1��=OQ�O�Q7 
ค<�"6 �Q7#6�%�6��%#
1�6#5$ �6%�%8/6%�5��6%
%4�� 2"6 �%4�6�7%<��9P 
R#NR�O#6�%�6� %4$4N/'6 ` �? 

�5�Nค';P1�Q/O
N�8��'%=��%%#
1$N6��N1N�;P1� 

�5�N�O��O1#='  5��6
�6��O1#=' 
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�8��6#O'4
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1��./1�./
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�O2��5P c �2%�%4ห2%�1��2% 
�'$8�� ์ O���2� �1/�5Q/1� N�O2ห#2$ dd-f^ dd-e^ dd de df dg e^ ห�N/$�2�ห'1� 2�1�2�8� 
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Nค%;P1��%1��Q7 
- �6%�@�1�%#N�O6/�O6�9P 1��. 

a.d �6��O1#='
Pค%��6% 5��6
O/'N��Q7�6#
"6%�8��6%�N6$
P1� 

- �6��O1#='
Pค%��6% 5��6
O/'N��Q7 

- Pค%��6% 5��6O/'N��Q7�9P
R�O%5��6%�N6$P1��5Q�/#� 
- �O1#=''N62<� N ;P1Q�O�%5��%<�
Pค%��6%Q/OQ�O�6%R�O/%;1N 8P#
05�$"6 Pค%��6% 
- �6%�%5��%<��O1#='Q/ON�O�
�ั��<�5�/'5��6�#9�6%�%5��%<�
Pค%��6%O'O/ 
- �6%�8��6#�%4N#8��'
Pค%��6%  

�5�Nค';P1�Q/O
N�8��'%=��%%#
1$N6��N1N�;P1� 

�5�N�O��O1#='  5��6
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�6%%6$�6� 

�8��6#O'4
�%4N#8��' 

�%5��%<�%4�� 2���./
2�1"./ 

1��./22�. 
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/�N/$�6��9P
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- �7�/��5��6%
%4�6$�Q7�9P
�7N�8��6%Q��5�
N#;1� 

- �5��P$�6$�5�//5� ed �5� 
�5�%4�6$�Q7�9P�7N�8��6%Q��5�
N#;1�%/# N#;1�/�<#�� b`^ 
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